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Quantitative Aptitude Test  
 
 

 
Introduction: 
 

• Mathematics  questions in competitive exams are of 10th Standard level 
• Tests Logical reasoning and analytical ability 
• Normally less than half a minute  is available to answer a question 
• None can  answer all the questions within the allotted timeframe 
• Judged on the basis of relative performance of others, subject to a minimum cut off 
• Elimination test 

  
    TO keep in mind: 

 
• Solving problems quickly and yet correctly 
• Time Management 
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Some tips 
 

• Be thorough with multiplication tables if possible up to 19 by 19 or at least 9 by 9  
(19*17 = 10*17+17*9= 170+153= 323) 

• Squares and cubes of first few numbers 
• Divisibility tests up to 11 
• Prime numbers up to 100. 
• Remember BODMAS Rule (Cross check with Calculator or excel) 
• Be through with algebraic formulae 
• Reduce number of arithmetic operations 
• Do not simplify after  each step 
• Check for factors and look out for cancellation of terms in numerator and denominator 
• Using Logic could be faster than using formula in some cases 

    
 
 NOTE:  

• Some of you may find some topics to be easy 
• First go through the audio lessons even if you do not understand 
• Listen repeatedly 
• Some concepts could be covered later  
• Keep paper and pencil 

 
Mock on line test:  
  

• Search Google  
• www.brets.in  a banking  online course  is a good site. 
• Register  there 
• Go to http://www.brets.in/View/demo-competitive-courses  
• Click on Practice Tests.  
 
Note: They also have a app 
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TOPICS  / Ļಷಯಗಳು 

1 Number System / ಸಂಖೆಯ್ಗಳು 16 Average/ ಸರಾಸರಿ  

2 Fractions and decimals / ಭಿನನ್ರಾļ ಮತುತ್ ದಶಮಾಂಶ 17 Age related/ ವಯľಸ್ಗೆ ಸಂಬಂಧಿľದಂತೆ 

3 Multiplication and Division  
ಗುಣಾಕಾರ ಮತುತ್ ಭಾಗಾಕಾರ 

18 Simple & compound interest / ಸರಳ & ಚಕರ್ ಬಡಿಡ್ 

4 Divisibility Tests  / ಭಾಜಯ್ತೆಯ ನಿಯಮಗಳು 19 People ,work and time / ಜನರು, ಕೆಲಸ ಮತುತ್ ಸಮಯ 

5 BODMAS rule / ಆವರಣ ಸೂತರ್   20 Filling and emptying of water from a tank
ಟಾಯ್ಂಕ್  ಗೆ ನೀರನುನ್ ತುಂಬಿಸುವುದು ಮತುತ್ ಖಾĹ ಮಾಡುವುದು 

6 Comparison of operators / ತುಲನಾ ಕಿರ್ಯೆ. 21 Speed / ವೇಗ 

7 Multiplication/Division of decimal numbers 
ದಶಮಾಂಶ ಸಂಖೆಯ್ಗಳ ಗುಣಾಕಾರ ಮತುತ್ ಭಾಗಾಕಾರ 

22 Permutations & Combinations 
ಕರ್ಮŴೕಜನೆ ಮತುತ್ Ļಕಲಪ್ 

8 Factors / ಅಪವತರ್ನಗಳು  23 Counting of days in months/ ತಿಂಗಳĹಲ್ ದಿನಗಳ ಲೆಕಕ್ 

9 HCF and LCM / ಮ.ಸಾ.ಅ ಮತುತ್ ಲ.ಸಾ.ಅ 24 Simultaneous Equations ( 2 variables)  
ಏಕಕಾĹಕ ಸಮೀಕರಣ 

10 Powers/ ಘಾತಗಳು 25 Quadratic Equation, Formulae 
ವಗರ್ ಸಮೀಕರಣ, ಸೂತರ್ಗಳು 

11 Approximation / ಅಂದಾಜು  Menstruation/ ďೇತರ್ ಗಣಿತ 

12 Percentages/ ಶೇಕಡ 17 Age related/ ವಯľಸ್ಗೆ ಸಂಬಂಧಿľದಂತೆ 

13 Ratio & Proportion / ಅನುಪಾತ ಮತುತ್ ಸಮಾನಾನುಪಾತ 18 Simple & compound interest / ಸರಳ & ಚಕರ್ ಬಡಿಡ್ 

14 Selling Price, Marked (Cost) Price, Profit & Loss 
ಮಾರಾಟದ ಬೆಲೆ, ನಮೂದಿľದ ಬೆಲೆ, ಲಾಭ ಮತುತ್ ನಷಟ್  

19 People ,work and time / ಜನರು, ಕೆಲಸ ಮತುತ್ ಸಮಯ 

15 Partnership, Profit sharing 
ಪಾಲುಗಾರಿಕೆ, ಲಾಭಾಂಶ ಹಂಚಿಕೆ 

  

 
       Visit www.FREEganita.com to understand above concepts or to learn more. OR 

Go through Ganita8910 a Data DVD set which has video graphed lessons of class 8 to 10 in Kannada
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Basics, Terms / ಮೂಲಭೂತ  ತತವ್, ಪದಗಳು 
Divide 13 by 2       
13           = 2      *6            +1 
Dividend = Divisor*Quotient + Reminder  
ಭಾಜಯ್        = ಭಾಜಕ  * ಭಾಗಲಬಧ್     + ಶೇಷ 

 
ಸಂ. ಒಂದು ಸಂಖೆಯ್/ಪದ ಇನೊನ್ಂದು ಸಂಖೆಯ್/ಪದ ಕಿರ್ಯೆ ಫĹತಾಂಶ ಉದಾ  

1 + + ಕೂಡಿಸು + (+6)+(+7)=13 

2 - - ಕೂಡಿಸು - (-6)+(-7)=-13 

3 + - ಕೂಡಿಸು + ಅಥವಾ - (+6)+(-7)=-1 ; (+7)+(-6)=1 

4 - + ಕೂಡಿಸು + ಅಥವಾ - (-6)+(+7)=1 ; (-7)+(+6)=-1 

5 + + ಕಳ  ೆ + ಅಥವಾ - (+6)-(+7)=-1 ; (+7)-(+6)=+1 

6 - - ಕಳ  ೆ + ಅಥವಾ - (-6 )-(-7)=(-6)+7=1; (-7 )-(-6)=(-7)+6=-1 

7 + - ಕಳ  ೆ +  (+7)-(-6)=7+6=13 

8 - + ಕಳ  ೆ - (-6)-(+7)= (-6)-7=-13 

9 + + ಗುಣಿಸು(*) 

ಅಥವಾ 

ಭಾಗಿಸು(÷) 

+ (+6)*(+2) =12 ; (+6)÷(+2) =3 
10 - - + (-6)*(-2) =12 ;  (-6)÷(-2) =3 
11 + - - (+6)*(-2) =-12 ; (+6)÷(-2) = -3 
12 - + - (-6)*(+2) = -12 ; (-6)÷(+2) =-3 
 

Reciprocal (Ļಲೋಮ) of  
2
3   is  

3
2   ;    

)(

1

b
a

 =1*(
a
b )= 

a
b
⇒  

)
3
2(

1 = 1*(
2
3 ) = 

2
3  

 
Note that If a*b = 0 then either a=0 or b=0 or both are zero 
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Transposition/Balancing of equations /ಸಮೀಕರಣದ ಸಥ್ಳಾಂತರ/ಸರಿತೂಗಿಸುĻಕೆ  
 
LHS(Left Hand Side), RHS(Right Hand Side) 
 
Example 1: x+2 = 6 
 
Solution: Balance LHS and RHS by subtracting 2 from both sides (ಎರಡೂ ಕಡೆ  2 ರಿಂದ ಕಳ  ೆ) 
∴LHS= x+2-2=x 
∴RHS= 6-2=4 
∴x= 4 
 

Example 2:  
2
x =3 

Balance RHS and LHS by multiplying both sides  by 2. (ಎರಡೂ ಕಡೆ  2 ರಿಂದ ಗುಣಿಸು ) 

2*(
2
x )= 2*3 

LHS= x and  RHS=6  
∴ x=6 
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Numbers/ ಸಂಖೆಯ್ಗಳು 

 
 

1 Natural Numbers/ಸಾವ್ಭಾĻಕ ಸಂಖೆಯ್ಗಳು      1,2,3… 

2 Whole Numbers/ಪೂಣರ್ ಸಂಖೆಯ್ಗಳು 0,1,2,3 

3 Integers/ ಪೂಣಾರ್ಂಕಗಳು -4,-3,-2,-1,0,1,2,3,4 

4 Even numbers/ ಸಮ ಸಂಖೆಯ್ಗಳು 

(Divisible by 2 : 2*N; N>0) 

2,4,6,8,10… 

5 Odd Numbers/ ಬೆಸ ಸಂಖೆಯ್ಗಳು 

(Not divisible by 2: 2*N+1;N>0 

1,3,5,7,9 

6 Prime Numbers/ ಅĻಭಾಜಯ್ ಸಂಖೆಯ್ಗಳು 

(Only factors are 1 and itself) 
ಅಪವತರ್ನಗಳು 1 ಮತುತ್  ಅದೇ ಸಂಖೆಯ್ 

1,2,3,7,11,13,17,19…. 

7 Square Numbers/ ವಗರ್ಗಳು 

(Square of itself  N*N or N2) 

02=0, 12=1, 22=4, 32=9, 42 =16 

8 Fractions/ ಭಿನನ್ರಾļ 

(Not whole integers : M/N: M, N integers>0) 
-

3
2 , -

3
1 , 

3
1 ,  

3
2 …. 

9 Decimals/  ದಶಮಾಂಶ 

( Integers Divided  by multiple of 10s) 10
2 =0.2, 

100
2 = 0.02, 

1000
2 = 0.002 

-
10
2 =-0.2, -

100
2 = -0.02, -

1000
2 = -0.002 

 

3
1 =0.33333, 

4
1 =0.25, 

4
3 =0.75 

1.123= 1+
1000
123  
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Missing number in Series/ ಶೆರ್ೕಣಿಯĹಲ್ ಬಿಟುಟ್ ಹೋಗಿರುವ ಸಂಖೆಯ್ 
 

No Identify missing Number Answer Reason 
1 1 3 5 7 9 11 ?   13 Odd numbers(ಬೆಸ ಸಂಖೆಯ್ಗಳು) 

2 2 4 9 16 25 ?  49 36  Squares after 1st number(ವಗೀರ್ಕರಿಸು) 

3 3 5 8 13 ? 34 21 Sum of previous 2 numbers after 1st number 
1ನೇ ಸಂಖೆಯ್ಯ ನಂತರ Ŀಂದಿನ ಸಂಖೆಯ್ಗಳ ūತತ್ 

4 4000 2000 1000 500 250 125 ? 62.5 Half of previous number(ಸಂಖೆಯ್ಯ ಅಧರ್) 

5 121 ? 81 64 49 36 25 100=102   Square of numbers(ವಗರ್- ಬಲಗಡೆಯಿಂದ) 

 
Exercise: Write your own series using your own  logic. 

 
 

Decimal numbers / ದಶಮಾಂಶ ಸಂಖೆಯ್ಗಳು 

10
1 = .1  

100
2 = .02  

5
1 = 0.2    

4
1 = 0.25  

3
1 = 

30
10 = (

3
10 )*

10
1 ≈ 3*

10
1 = 0.3 (≈ಇದು ಅಂದಾಜು ಎಂದು ಸೂಚಿಸುತತ್ದೆ) 

   =
300
100 = (

3
100 )*

100
1 ≈ 33

100
1 = 0.33 

  =
3000
1000 = (

3
1000 )*

1000
1 ≈ 333*

1000
1 = 0.333 
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Multiplication/ಗುಣಾಕಾರ 

 
47*198 =? 
 

Method 1 Method 2 
 
47*198  
376 

      423 
     47 
====== 
       9306 
====== 

 
  198*47 
   1386 
   792 
==== 
   9306 
==== 
 

 
 
 
Alternative method: 198*(40+7) = 198*40+ 198*7= 7920+1386=  9306  
 
Alternative method quite useful in some cases like 

198*197 = (200-2)*197 or 198*(200-3)= (200-2)*(200-3) 
 
 
Multiplication of numbers containing multiples of 10 
198000*9700 = 198*97*100000 
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            Divisibility Tests / ಭಾಜಯ್ತೆಯ ನಿಯಮಗಳು (ನಿಶೆಶ್ೕಷವಾಗಿ ಭಾಗಿಸಲಪ್ಡಬೇಕಾದರೆ) 
 

Divisible 
by: 
ಭಾಜಕ 

If: 
 

Examples: 
 

2 
The last digit is even (0,2,4,6,8)
ಕೊನೆಯ ಅಂಕೆ (0,2,4,6,8) ಆಗಿರಬೇಕು 

128 Yes 128/2=64 
 
129 No 

3 
The sum of the digits is divisible by 3
ಅಂಕೆಗಳ ūತತ್ 3 ರಿಂದ ಭಾಗಿಸಲಪ್ಡಬೇಕು 

381 (3+8+1=12, and 12÷3 = 4) Yes 381/3= 127 
 
217 (2+1+7=10, and 10÷3 = 3 1/3) No 

4 
The number formed by  last 2 digits is 
divisible by 4 
ಕೊನೆಯ 2 ಅಂಕೆಗĺಂದಾದ ಸಂಖೆಯ್ಯನುನ್ 4 ಭಾಗಿಸುತತ್ದೆ 

1312 Yes (12÷4=3) 1312/4=328 
 
7019 No 

5 
The last digit is 0 or 5
ಕೊನೆಯ ಅಂಕೆ 0 ಅಥವಾ 5 ಆಗಿರಬೇಕು 

175 Yes 175/5=35 
 
809 No 

6 

The number is divisible by both 2  
and 3 
ಸಂಖೆಯ್ಯು 2 ಮತುತ್ 3 ರಿಂದ ಭಾಗಿಸಲಪ್ಡಬೇಕು. 

114 (it is even, and 1+1+4=6 and 6÷3 = 2) Yes 
114/6=19 
 
308 (it is even, but 3+0+8=11 and 11÷3 = 3 2/3) No  

7 

Double the last digit and subtract it from 
the rest of the number and the answer 
should be :  

0, or  
divisible by 7 

(This rule can be applied repetitively) 

672 (Double of  2 is 4, 67-4=63, and 63÷7=9) Yes 
672/7= 96 
 
905 (Double of 5 is 10, 90-10=80, and 80÷7=11 3/7) 
No 

8 

The number formed by last 3 digits is 
divisible by 8 
ಕೊನೆಯ 3 ಅಂಕೆಗĺಂದಾದ ಸಂಖೆಯ್ಯನುನ್ 8 ಭಾಗಿಸುತತ್ದೆ 

 

109816 (816÷8=102) Yes 109816/8= 13727 
 
216302 (302÷8=37 3/4) No 
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9 
The sum of the digits is divisible by 9 
(This rule can be applied repetitively) 
ಎಲಾಲ್ ಅಂಕೆಗಳ ūತತ್ವನುನ್ 9  ಭಾಗಿಸುತತ್ದೆ 

1629 (1+6+2+9=18, and again, 1+8=9) Yes 
 
2013 (2+0+1+3=6) No 

10 
The number ends in 0 
ಕೊನೆಯ ಅಂಕೆ 0 ಆಗಿರಬೇಕು 

220 Yes  220/10=22 
 
221 No 

11 

Sum of digits in even places- sum of 
digits in odd places)= 

0, or  
divisible by 11 

1364 ((3+4) - (1+6) = 0) Yes 1364/11= 124 
3729 ((7+9) - (3+2) = 11) Yes 3729/11=339 
 
25176 ((5+7) - (2+1+6) = 3) No 

12 

The number is divisible by both 3  
and 4 
ಸಂಖೆಯ್ಯು  3  ಮತುತ್  4 ರಿಂದ ಭಾಗಿಸಲಪ್ಡಬೇಕು. 

648  
(By 3? 6+4+8=18 and 18÷3=6 Yes  
By 4? 48÷4=12 Yes) Yes 648/12=54 
524  
(By 3? 5+2+4=11, 11÷3= 3 2/3 No  
Don't need to check by 4.) No 

 
What is the answer of 2 + 3 * 4? Is it  20 Or 14 ? 

 
BODMAS rule for mathematical computation: 

 
B Brackets first(ಆವರಣ) 

O 
Orders (ie Powers and Square Roots/Exponents)
(ಘಾತ,ವಗರ್ಮೂಲ 

DM 
Division and Multiplication (left-to-right) 
ಗುಣಾಕಾರ/ಭಾಗಾಕಾರ(ಎಡದಿಂದ ಬಲಕೆಕ್) 

AS 
Addition and Subtraction (left-to-right)
ಸಂಕಲನ/ವಯ್ವಕಲನ(ಎಡದಿಂದ ಬಲಕೆಕ್) 

 
7 +6 * 52 + 3 = 7+150+3=160 
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Comparison Operations / ತುಲನಾ ಕಿರ್ಯೆ 

 
 
 
 
 
 
 
 
 
A<=B<=C<=D ⇒  A<=D, A<=C, B<=D 
A>=B>=C>=D ⇒  A>=C, A>=D, B>=D 
 

Which is big 
6
1 or 

3
1  ? 

 

Since 6>5>4>3>2>1 ⇒  
6
1 <

5
1 <

4
1 <

3
1 <

2
1 <

1
1  ⇒  

6
100 <

5
100 <

4
100 <

3
100 <

2
100 <

1
100 (Numerator is same/ಅಂಶ ಒಂದೇ) 

 
 

Since 6>5>4>3>2>1  ⇒  
4
6 >

4
5 >

4
4 >

4
3 >

4
2 >

4
1 (Denominator  is same )(ಛೇದ ಒಂದೇ) 

 
 

Operator ತುಲನೆ Example Opposite Ļರೋಧ Example 

<; A<B  x<5 >=; B>=A  5>=x 
<=; A<=B   x<=5 >; B>A  5>x 
>; A>B x>5 <=; B<=A 5<=x 
>=; A>=B x>=5 <; B<A 5<x 
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Multiplication/Division of numbers with decimal points 
 

1. Let one number  has ‘m’ number of decimals/ ಒಂದು ಸಂಖೆಯ್ಯĹಲ್  ದಶಮಾಂಶ ಸಾಥ್ನದ ನಂತರ ಚುಕೆಕ್ಯ ಪಕಕ್ ‘m’ ಅಂಕೆಗĺರĹ 

2. Let another  has ‘n’ number of decimals/ ಇನೊನ್ಂದು ಸಂಖೆಯ್ಯĹಲ್  ದಶಮಾಂಶ ಸಾಥ್ನದ ನಂತರ ಚುಕೆಕ್ಯ ಪಕಕ್ ‘n’ ಅಂಕೆಗĺರĹ. 

3. Multiply numbers without decimal points/ ದಶಮಾಂಶ ಸಂಖೆಯ್ಇಲಲ್ದೆ ಎರಡನೂನ್ ಗುಣಿľ 
4. Introduce decimal point from right in the (m+n) th place,  by inserting zeros if necessary 

ಬಂದ ಉತತ್ರಕೆಕ್ ಬಲಗಡೆಯಿಂದ (m+n) ಸಾಥ್ನದĹಲ್ ದಶಮಾಂಶ ಚುಕೆಕ್ ಇರಿľ( ಅಗತಯ್Ļದದ್ರೆ 0 ಸೇರಿľ) 
Example 1: 0.1*.02= 0.02 

  ‘m’=1 ; ‘n’=2 
1. 1*2= 2 
2. Introduce decimal point  from the right in 3rd place , by inserting 2 zeros. 
3. The answer is .002 

 
Example 2: 1.55*2.0045  

‘m’=2 ; ‘n’=4 
1. 155*20045 = 3106975 
2. Introduce decimal point after  6th place from right = 3.106975 
3. The answer is 3.106975. 

 
Division of numbers with decimal points 
 

1. Let dividend(Numerator) has ‘m’ decimal places. ಅಂಶದĹಲ್  ದಶಮಾಂಶ ಸಾಥ್ನದ ನಂತರ ಚುಕೆಕ್ಯ ಪಕಕ್ ‘m’ ಅಂಕೆಗĺರĹ 

2. Let Divisor(Denominator) has ‘m’ decimal places. ಛೇದದĹಲ್  ದಶಮಾಂಶ ಸಾಥ್ನದ ನಂತರ ಚುಕೆಕ್ಯ ಪಕಕ್ ‘n’ ಅಂಕೆಗĺರĹ 
3. Multiply both denominator and numerator by multiples of 10(greatest of m and n) and then divide 

ಅಂಶ ಮತುತ್ ಛೇದ ಎರಡನುನ್ 10ರ ಗುಣಕದಿಂದ(‘m’  ಮತುತ್ ‘n’ ರĹಲ್ ದೊಡಡ್ದಾದ  ಅಂಕೆಯಿಂದ ) ಗುಣಿľ 
 

Example 3: 
0011.
55.  =? 

  

‘m’=2 ; ‘n’=4    ;  
0011.
55.  = 

10000*0011.
10000*55. = 

11
5500 =500 
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Factrorisation/ಅಪವತರ್ನ 

 
Factors (ಅಪವತರ್ನಗಳು) of 16: (1, 16),(2,8),(4,4) 
Factors of 24: (1, 24),(2,12),(3,8),(4,6) 
Factors of 20: (1, 20),(2,10),(4,5) 
 
HCF  and LCM (ಮ.ಸಾ.ಅ. ಮತುತ್ ಲ.ಸಾ.ಅ. ) 

Sl.No. HCF ಮ.ಸಾ.ಅಪವತರ್ನ LCM ಲ.ಸಾ. ಅಪವತಯ್ರ್. 

1 2 | 16,24,20 
2 |  8,12,10 
   |  4, 6,  5 
    

HCF = 2*2=4 
 
Highest among all Common Factors 
ಅಪವತರ್ನಗಳĹಲ್ ಅತೀ ದೊಡಡ್ದಾದ ಸಂಖೆಯ್ 

2 | 16,24,20 
2 |  8,12,10 
2 |  4,6,5 
   |  2,3,5 

 
LCM = 2*2*2*2*3*5=240 
 
Least among all Common Multiples 
ಅಪವತಯ್ರ್ಗಳĹಲ್ ಅತೀ ಚಿಕಕ್ದು 

2  
5 | 15,20,10 
   |  3,  4,  2 
 

HCF= 5= 5 

 
5 | 15,20,10 
2 |  3,  4,  2 
   |  3,  2,  1 

 
LCM= 5*2*3*2*1= 60 

 HCF helps in simplifying fractions 
ಭಿನನ್ರಾļಗಳನುನ್ ಸುಲಭೀಕರಿಸಲು ಸಹಾಯಕ 

LCM helps in adding or subtracting fractions.
ಭಿನನ್ರಾļಗಳನುನ್ ಕೂಡಲು/ಕಳೆಯಲು ಸಹಾಯಕ 

Consider the pair (4, 6) 
 
HCF of (4,6)= 2  LCM of (4,6)= 12 
4*6=24 = 2*12 = HCF*LCM 
 

HCF*LCM of any 2 numbers= product of those 2 numbers 
ಯಾವುದೇ ಎರಡು ಸಂಖೆಯ್ಗಳ ಮ.ಸಾ.ಅ. * ಲ.ಸಾ.ಅ =  ಅವುಗಳ ಗುಣಲಬಧ್
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Application of HCF and LCM/ ಮ.ಸಾ.ಅ. ಮತುತ್ ಲ.ಸಾ.ಅ ಗಳ ಉಪŴೕಗ 

 
Fraction Additions/subtractions 

5
4 +

5
3 = 

5
)34( + = 

5
7  

5
4 -

5
3 = 

5
)34( − = 

5
1  

 
Note that for addition/subtraction of fractions, we need to have denominator same  
ಭಿನನ್ರಾļಗಳನುನ್ ಕೂಡಿಸಲು/ಕಳೆಯಲು ಛೇದ ಒಂದೇ ಆಗಿರಬೇಕು. 

 

Problem 1: 
16
1 -

20
1 = ?  

Solution: 
16 = 4*2*2 
20=  4*5 
LCM of 16 and 20 = 4*2*2*5 = 80 
 

16
1 -

20
1 = 

5*16
5*1 -

4*20
4*1  = 

80
5 -

80
4 = 

80
)45( − = 

80
1  

 

Problem 2: Simplify 
16
24  

Solution: 
16 = 4*2*2 
24=  4*2*3 
Note 4*2= 8 is HCF of 16 and 24(use Divisibility test for 8) 

16
24 = 

2*8
3*8 = 

2
3  
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Problem 3 : Find the least number which when divided by 9 12 and 15  leaves in each case reminder of 5. 
9,12 ಮತುತ್  15 ಇವುಗĺಂದ ಭಾಗಿಸಲಪ್ಡುವ  ಮತುತ್  5 ಶೇಷವನುನ್ ಹೊಂದಿರುವ ಅತೀ ಚಿಕಕ್ ಸಂಖೆಯ್ ಯಾವುದು? 

 

 
Solution: 
First we need to find LCM of 9, 12 and 15 which is 180.   

Since   the number needs to have reminder of 5, the required number is 185. 
9,12 ಮತುತ್  15  ರ ಲ.ಸಾ.ಅ 180.  5 ಶೇಷವಾಗಿರಬೇಕಾಗಿರುವುದರಿಂದ ಆ ಸಂಖೆಯ್ 185. 
 
Problem 4 : Find the greatest number which divides both 16 and 24 
 
Solution: 
The answer is 8 which is HCF of 16 and 24.  

16 ಮತುತ್ 24 ರ ಮ.ಸಾ.ಅ 8 ಆಗಿರುವುದರಿಂದ ಅದು ಉತತ್ರ. 

 
Problem 5 : To run a circular stadium time taken by 3 athletes is 8s, 9s and 6s. In how much time they all will 
meet at the starting point first time? 
ಒಂದು ವೃತಾತ್ಕಾರದ ಸೆಟ್ೕಡಿಯಂ ನುನ್ ಸುತತ್ಲು ಮೂರು ಓಟಗಾರರು  8 ಸೆ., 9 ಸೆ. ಮತುತ್   6 ಸೆ ತೆಗೆದುಕೊಂಡರೆ  ಎಷುಟ್ ಸಮಯದ ನಂತರ ಅವರು  ಓಟದ 

ಆರಂಭದಜಾಗದĹಲ್ ūದಲಬಾರಿ ಸಂಧಿಸುತಾತ್ರೆ? 
Solution: 
The answer is 72 which is LCM of 8, 9 and 6. So they all meet after 72 sec for the first time.  
8, 9  ಮತುತ್ 6 ರ ಲ.ಸಾ.ಅ 72 ಆಗಿರುವುದರಿಂದ ಅದು ಉತತ್ರ. 72 ಸೆ. ನಂತರ ಅವರೆಲಲ್ರೂ ಆರಂಭದ ಜಾಗದĹಲ್ ūದಲಬಾರಿ ಸಂಧಿಸುತಾತ್ರೆ 
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Problem 6: Out of fractions
9
4 , 

11
5 , 

7
3 , 

4
1  and 

5
2 , what is the difference between the 2nd largest and second 

smallest fraction? 

9
4 , 

11
5 , 

7
3 , 

4
1  ಮತುತ್  

5
2

 ರĹಲ್ ಎರಡನೇ ದೊಡಡ್ ಸಂಖೆಯ್ ಮತುತ್ ಎರಡನೇ ಅತೀ ಚಿಕಕ್ ಸಂಖೆಯ್ಯ ವಯ್ತಾಯ್ಸ ಎಷುಟ್? 

 
• Find LCM of 9,11,7 and 4 so as to have a common denominator.(ಲ.ಸಾ.ಅ ಕರ್ಮ) 

        OR(ಅಥವಾ) 

• Convert to decimals(ದಶಮಾಂಶ ಸಂಖೆಯ್ಗೆ ಬದĹľ) 
 
Solution:  

9
4 = 0.444 ; 

11
5 =0.454 ; 

7
3 =0.429   ;

4
1 =0.25; 

5
2 =0.40 

Since 0.25<0.40<0.429<0.444<0.454 

4
1     <

5
2     <

7
3      <

9
4      <

11
5  

 

Second largest is 
9
4  (ಎರಡನೇ ದೊಡಡ್ ಸಂಖೆಯ್) 

Second smallest 
5
2

 (ಎರಡನೇ ಚಿಕಕ್ ಸಂಖೆಯ್) 

Required difference is(ಅವುಗಳ ವಯ್ತಾಯ್ಸ) 
9
4 -

5
2 = 

5*9
)9*2()5*4( −  =

45
1820 − = 

45
2  

 
When several fractions are to be compared convert each of them to decimals and do not use LCM method.  
 

ಭಿನನ್ರಾļಗಳನುನ್ ಹೋĹಸಲು ಲ.ಸಾ.ಅ ಕರ್ಮ ಹೆಚಾಚ್ಗಿ ಉಪŴೕಗಿಸದೇ ಇರುವುದು ಉತತ್ಮ. 
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Powers/ ಘಾತ 

 
 
23*22 = 25 

 2

5

2
2 = 23 

(23)4 = 212 

(
2
1 )2= 2

2

2
1 = 2-2 

In general the rules are 
No Formula 
1 an = a*a*a*a –>n times 
2 a1= a   a0 =1  
3 

ma
1 = a - m  

4 am  *an   = a(m+n)   
5 m

na
a  = a(m-n)   

6 (am  )n   = amn 
7 (a*b)m    = (am)* (bm) 
8 

(
b
a )m    = (

m

mb
a ) 

9 m x  = am x(1/m) 

10 xym  = x(1/m)* y(1/m) 
11 

y
xm = m x ÷ m y  
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Problem 1: Solve: 
56

(?) 7.1

 = 3.0(?)
14   

 
Solution:  
(?)1.7*(?).3= 14*56 
(?)1.7+.3 = 2*7* 8*7 =4*4*7*7 = (4*7)2 

(?)2= (4*7)2 

(?)= (4*7)=28 
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Problem 2:  Solve 253* 43-8002 = (?)2 

 
Solution: 
LHS= (25*4)3-8002= 100*100*100-64*100*100=  100*100 (100-64) = 100*100*36= (600)2 

600 is the answer 

 

Problem 3:  Solve (49)2*(7)8÷ (343)3= (7)?  
 

Solution: 
LHS= (72)2*78÷ (73)3= 74+8÷79= 73    ; 3 is the answer 

 

Problem 4:  Solve (5*5*5*5*5*5)4 *(5*5)6 ÷ (5)2 = (25)? 

 

Solution: 
LHS=(25)4*(25)4*(25)4*(25)6-1= (25)4+4+4+6-1=(25)17   ;17 is the answer 

 
 

Approximation/Rounding / ಅಂದಾಜು 

 
 

Problem 1: What is the approximate sum of -125.009, 68.99 and 100.655  rounded to whole number? 
 
Solution: 

125.009 ≈125 
68.99 ≈ 69 
100.655 ≈101 

 
Their approximate sum = -125+69+101= 45 
 

1. (11.999)3 ≈ 123= 1728 

2. 
01.50

50550  = 
50

50550 = 1011  

3. 
111*11

111111 = (
11

111111)*(
111
1 )≈

111
10101  ≈91 
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Percent (%)/ ಶೇಕಡ 

 

40%= 
100
40

 

4%=
100

4  

2
1 = 

50*2
50*1 = 

100
50 = 50% 

60%= 
100
60 = 

10
6  =0.6 

Calculation of increase %= (
valueOriginal

valueinIncrease
_

__ )*100;  ಹೆಚಚ್ಳ %   =   {ಮೂಲ ಬೆಲೆಯĹಲ್ನ ಹೆಚಚ್ಳ) ÷ ಮೂಲ ಬೆಲೆ}*100 

Notes: 
10% increase means original quantity increases by 10 on a base of 100. 
10% ಹೆಚಚ್ಳ ಎಂದರೆ 100 ಇದದ್ದುದ್  110 ಆಗುತತ್ದೆ 

Increase of 10% on 100 means 100 becomes 100+ 10% of 100= 100+ 
100
10 = 100+10=110 = 100*1.1  

Increase of r% on x(x ನ ಮೇಲೆ  r% ಹೆಚಚ್ಳ) = x*(1+
100

r ) 

If decrease then in the above formula r is replaced by –r 

Decrease of r% on x (x ನ ಮೇಲೆ  r% ಕಡಿತ)   = x*(1-
100

r ) 

Problem 1: 30% of 15% of 
3
2 rd of a number is 15. What is the number? 

 ಒಂದು ಸಂಖೆಯ್ಯ  
3
2

 ರಷಟ್ರ  ಮೇಲೆ 30% ಮತುತ್  15%  ರ ಬೆಲೆ 15  ಆದರೆ ಆ ಸಂಖೆಯ್ ಯಾವುದು? 

Solution: 
Let x be the number 

(
3
2 )*x*(

100
30 )*( 

100
15 )= 15 

x= 10*50= 500 
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Problem 2: The population of a town is 25280. It increases by 10% in the first year and decreases by 25% in 
the 2nd year. What is the population at the end of 2nd year? 
ಒಂದು ಪಟಟ್ಣದ ಜನಸಂಖೆಯ್25280. ūದಲ ವಷರ್ 10% ರಷುಟ್ ಜಾľತ್ಯಾಗಿ, ಎರಡನೇ ವಷರ್ 25% ಕಡಿಮೆಯಾದರೆ ಎರಡನೇ ವಷರ್ದ ಕೊನೆಯĹಲ್ನ ಜನಸಂಖೆಯ್ 

ಎಷುಟ್? 

Solution: Population at the end of 1st year= 25280( 1+
100
10 )= {25280*

10
11 }< -- ūದಲನೇ ವಷರ್ದ ಅಂತಯ್ದ ಜನಸಂಖೆಯ್ 

                 Population at the end of 2nd year= {25280*
10
11 }*(1-

100
25 )   < -- ಎರಡನೇ ವಷರ್ದ ಅಂತಯ್ದ ಜನಸಂಖೆಯ್ 

                 = 25280*
10
11 *

100
75 = 2528*11*

100
75 =632*11*3= 20856 

 
Problem 3: A gave 50% of the money to his wife and distributed balance money equally among his 3 children. 
If each son got Rs. 3250 what was the amount he had? 
ಓವರ್ನು ತನನ್Ĺಲ್ನ ಹಣದĹಲ್ 50% ರಷಟ್ನುನ್ ಹೆಂಡತಿಗೆ ನೀಡಿ ಉĺದ ಹಣವನುನ್ ಸಮನಾಗಿ  ತನನ್ಮಕಕ್ĺಗೆ ತಲಾ  3250  ರೂ. ನಂತೆ ನೀಡಿದರೆ ಆತನĹಲ್ ಒಟುಟ್ ಎಷುಟ್ 

ಹಣĻದಿದ್ತುತ್? 

Solution:   50%= 3250*3 
                  100% = 3250*3*2= 6500*3= 19,500 
 
Problem 4: The difference between 90% of a number and 83% of number is 175. What is 99% of number? 
ಒಂದು ಸಂಖೆಯ್ಯ 90% ರ ಮತುತ್ 83% ರ ವಯ್ತಾಯ್ಸ 175 ಆದರೆ ಆ ಸಂಖೆಯ್ 99% ಎಷುಟ್? 

Solution:    7%> 175 

                  99% >> 
7

99*175  = 25*99= 25(100-1) = 2475 

 
Problem 5: 20% of the total cost of the plot with an area of 400 sft is Rs.72000. What is the rate per sq.ft of 
the plot? 
400 ಚ.ಅಡಿ ಇರುವ ಒಂದು ಜಾಗದ ಬೆಲೆಯ 20% ರಷುಟ್ ರೂ. 72000 ಆದರೆ  ಒಂದು ಚ. ಅಡಿ ಜಾಗದ ಬೆಲೆ ಎಷುಟ್? 

 
Solution:      20%  > Rs.72000 
                      100% >> Rs. (72000*5) 

                      Rate per sq.ft = (72000*5) 
400
1 =900 
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Problem 6: A sold an item @ Rs.15000 incurring a loss of 25%. At what price, should he sell to gain a profit of 
40%? 
ಓವರ್ನು  25% ನಷಟ್ವಾಗುವಂತೆ  ಒಂದು ವಸುತ್ವನುನ್ರೂ. 15000 ಕೆಕ್ ಮಾರುತಾತ್ನೆ. ಅದೇ ವಸುತ್ವನುನ್  40%  ಲಾಭದĹಲ್ ಮಾರಲು ಎಷುಟ್ ಬೆಲೆ ಇಡಬೇಕು? 

 

Solution: 
Since loss was 25%, 75% of price of the item= 15000 
He needs a gain of 40%( 100% covers no loss, hence  gain  of 140% gives profit of 40%) 
75% --  15000 (25% ನಷಟ್ವಾಗಿರುವುದರಿಂದ ಅವನು ಮಾರಿದುದ್  ವಸುತ್Ļನ ಬೆಲೆಯ 75% ರಷುಟ್) 

140%  -  ?       (100% ಎನುನ್ವುದು ಲಾಭ ಮತುತ್ ನಷಟ್ರĿತ ಬೆಲೆ.  ಲಾಭಕಾಕ್ಗಿ  40%  ಜಾľತ್ ಮಾಡಬೇಕು) 

15000*
75

140 = 28000 

 
Problem 7:  If the price of sugar goes up by 1%, what % should be the approximate reduction in the 
consumption so that there is no extra expenditure? 
ಸಕಕ್ರೆಯ ಬೆಲೆ 1% ಜಾľತ್ಯಾದರೂ, ವೆಚಚ್ ಜಾľತ್ಯಾಗದೆ  ūದĹನಂತಿರಲು  ಅದರ ಬಳಕೆಯ ಪರ್ಮಾಣವನುನ್  ಸರಿಸುಮಾರು ಎಷುಟ್ % ಕಡಿಮೆ ಮಾಡಬೇಕು? 

 
Solution: 
Because of increase of 1% in sugar price, the expenditure becomes 101% 

To maintain expenditure at the same level (=100%) the consumption should decrease by 
101
100 % so that net 

effect is 100% : (101%*(
101
100 )% = 100%) 

Thus the answer is 
101
100 % ≈ 99% 

 

ಸಕಕ್ರೆಯ ಬೆಲೆ 1% ಜಾľತ್ಯಾಗಿರುವುದರಿಂದ  ಒಟುಟ್ ವೆಚಚ್  101% ಆಗುತತ್ದೆ. ಅದರ ಬಳಕೆ ūದĹನಂತಿರಬೇಕಾದರೆ(=100%) ಅದರ ಬಳಕೆ  
101
100 %      

ರಷುಟ್  ಕಡಿಮೆ ಆಗಬೇಕು. ಆಗ ಮಾತರ್  ವೆಚಚ್ ಜಾľತ್ ಆಗುವುದಿಲಲ್( Q101%*(
101
100 )% = 100%)  

ಉತತ್ರ = 
101
100 % ≈ 99% 
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Ratio and proportion/ ಅನುಪಾತ ಮತುತ್ ಸಮಾನಾನುಪಾತ 

 
When we say the marks of 2 students are in the ratio of 2:3 it means marks could be 20 and 30 or 40 and 60 or 
60 and 90. 
That is to say, if marks of one student are 2x then other’s is 3x 

That is 
3
2 =

30
20 =

60
40 =

90
60  … = 

x
x

3
2  

In other words 2:3 can also be described as 2 parts and 3 parts out of total of 5 parts 
 
ಇಬಬ್ರು  Ļದಾಯ್ಥಿರ್ಗಳ ಅಂಕಗಳ ಅನುಪಾತ   2:3  ರಂತೆ ಇದೆ ಅಂದರೆ ಅವರು ಗĺľದ ಅಂಕಗಳು 20,30 ಅಥವಾ 40,60 ಅಥವಾ 60,90 ಆಗಿರಬಹುದು. 

ಅಂದರೆ ಅವರದುದ್  2x,3x  ಆಗಿರುತತ್ದೆ. ಒಟಿಟ್ನĹಲ್  
3
2 =

30
20 =

60
40 =

90
60  … = 

x
x

3
2

 

 
Question:  
What is x in 15:12:: x:24? 
:: means ‘same as’( ಸರಿಸಮಾನ) 

  

12
15  = 

24
x  ∴ x=15* 

12
24   

 
x=30.  
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Profit and Loss / ಲಾಭ ಮತುತ್ ನಷಟ್ 

No CP: Cost Price/ಅಸಲು/ತಯಾರಿಕಾ ಬೆಲೆ, SP: Selling Price/ಮಾರಿದ ಬೆಲೆ, MP: Marked Price/ನಮೂದಿľದ ಬೆಲೆ) 

Formulae:↓  ↓ ↓  
1 Profit OR Loss = ± (CP-SP)  (- indicates loss) {ಲಾಭ/ನಷಟ್} 

2 Profit OR Loss % = 
CP

ofit 100*Pr  OR  
CP

Loss 100*      {ಲಾಭ%/ನಷಟ್%} 

3 CP = 
%)Pr100(

*100
ofit
SP

+
 OR  

%)100(
*100
Loss

SP
−

 {ಅಸಲು/ತಯಾರಿಕಾ ಬೆಲೆ} 

4 SP =   
100

*%)Pr100( CPofit+  OR  
100

*%)100( CPLoss−     

5 Discount% = 
MP

Discount 100*
{ಸೋಡಿ%} 

6 SP= 
100

*%)100( MPDiscount−
 

 
Problem 1: A sold an item @ Rs. 15000 incurring a loss of 25%. At what price should he sell to gain a profit of 
40%? 
ಓವರ್ನು  25% ನಷಟ್ವಾಗುವಂತೆ  ಒಂದು ವಸುತ್ವನುನ್ರೂ. 15000  ಕೆಕ್ ಮಾರುತಾತ್ನೆ. ಅದೇ ವಸುತ್ವನುನ್   40%  ಲಾಭದĹಲ್ ಮಾರಲು ಎಷುಟ್ ಬೆಲೆ ಇಡಬೇಕು? 
Solution: 

CP =  
%)100(

*100
Loss

SP
−

    =
75
15000*100   

SP=
100

*%)Pr100( CPofit+  =  
100

40)(100 + *
75
15000*100  = 

75
15000*140 = 28000 

Note: The above problem was solved under Percentage lesson using logic and unitary method 
 
Problem 2:A seller looses the selling price of 4 apples on selling  25 apples. What is his loss% ? 
ಓವರ್ನು 25 ಸೇಬು ಹಣುಣ್ಗಳನುನ್ ಮಾರುವಾಗ 4 ಸೇಬು ಹಣುಣ್ಗಳ ನಷಟ್ವನುನ್ ಅನುಭĻľದರೆ ಅವನ ನಷಟ್ ಎಷುಟ್ % ಆಗುತತ್ದೆ? 

 

Solution:  It is =(
25
4 )*100= 16% 
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Problem 3:10 oranges are bought for a price of Rs 300. If 9 are sold for Rs 300. What is the profit%? 
 10  ಕಿತತ್ಲೆ  ಹಣುಣ್ಗಳನುನ್  300 ರೂ ಗೆ ಕೊಳಳ್ಲಾಗಿದೆ. ಅವುಗಳĹಲ್  9 ನುನ್  300  ರೂ ಗೆ ಮಾರಿದರೆ ಲಾಭ ಎಷುಟ್ % ಆಗುತತ್ದೆ? 

 
Solution: 
 

SP= 
9

300 ,  CP= 
10
300 : Profit = 300*(

9
1 -

10
1 ) = 

90
300  

Profit% =
CP

ofit 100*Pr = (
90
300 )*100*

300
10  = 

9
100 = 11(

9
1 )% 

 
By logic: one orange comes free on a sale of 9 out of 10 bought.   

9 ಹಣುಣ್ ಮಾರುವಾಗ ಒಂದು ಹಣುಣ್  ಉಚಿತವಾಗಿ ľಗುತಿತ್ರುವುದರಿಂದ Profit %= 
9

100*9)-(10 =
9

100 = 11(
9
1 )% 

 
Successive Discount: ಆವತಿರ್ತ ಸೋಡಿ 

 
If r1 , r2 and r3 are successive discounts( discount on discount) given on a product then formula for net(total) 

discount is=   

r1 , r2 ಮತುತ್  r3   ಗಳು  ಆವತಿರ್ತ ಸೋಡಿಗಳಾದರೆ( ಸೋಡಿ ಮೇಲೆ ಸೋಡಿ) ಆಗ ಒಟುಟ್ ಸೋಡಿ = 
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Partnership and profit sharing/  ಪಾಲುಗಾರಿಕೆ ಮತುತ್ ಲಾಭಾಂಶ ಹಂಚಿಕೆ 

 
Profit to be shared is directly proportional to the investment made (Money invested and the period of 
investment).  
 
ಕೇವಲ ಹೂಡಿದ ಬಂಡವಾಳವಲಲ್ದೆ  ಬಂಡವಾಳ ಹೂಡಿದ ಸಮಯವನೂನ್ ಲೆಕಕ್ಕೆಕ್ ತೆಗೆದುಕೊಂಡು ಲಾಭಾಂಶವನುನ್ ಹಂಚಬೇಕು. 

 
Problem 1: A’s investment is 200 Rs. B’s investment is 300 Rs. How the profit of Rs.2000 is shared? 
A  ಯು 200 ರೂಗಳನೂನ್  B ಯು 300ರೂಗಳನುನ್ ಹಣ ತೊಡಗಿľ ರೂ 2000 ಲಾಭಗĺľದರೆ ಲಾಭವನುನ್ ಹಂಚುವುದು ಹೇಗೆ? 
Solution: A:B  investment = 200:300=  2:3 Profit needs to be divided in to 5 parts(2+3) and 2 parts to be 
given to A and 3 parts need to be given to B 
2x+3x= 2000 
∴x= 400 Thus  A’s share = 800(=2x) and B’s share = 1200(=3x). 
Note the share of profit= 800:1200= 2:3 which is the same investment ratio.(200:300) 
 
 
A:B  ಹಣ ಹೂಡುĻಕೆ = 200:300=  2:3. ಅಂದರೆ  ಹಣವನುನ್ 5  ಭಾಗ ಮಾಡಿ ಲೆಕಕ್ ಹಾಕಿದರೆ  ಅದರĹಲ್   A ಯ ಪಾಲು  ಎರಡರಷುಟ್  ಮತುತ್ B ಯ ಪಾಲು 

ಮೂರರಷುಟ್. ಆದುದರಿಂದ ಲಾಭವನೂನ್ 5 ಭಾಗ ಮಾಡಿ A ಯ ಪಾಲು 2 ಭಾಗದಷುಟ್  ಮತುತ್ B ಯ ಪಾಲು 3 ಭಾಗದಷುಟ್ ಇರುವಂತೆ ನೋಡಿಕೊಳಳ್ಬೇಕು. 
2x+3x= 2000 
∴x= 400  ∴ A ಯ  ಲಾಭ = 800(=2x) ಮತುತ್  B ಯ ಲಾಭ = 1200(=3x). 
 
 
 
 
If the investment period is different, then amount*period of investment should be considered for profit sharing 
 

ತೊಡಗಿľದ ಹಣ ಬೇರೆ ಬೇರೆ ಅವಧಿಯದಾಗಿದದ್ರೆ ಹಣ ಅವಧಿ  ಯು ತೊಡಗಿľದ ಹಣವೆಂದು ಪರಿಗಣಿಸಬೇಕು. 
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Problem 2:  A starts business with Rs. 5000. After 4 months B joins with a sum of   Rs. 4000. At the end of the 
year, if there is a profit of Rs 8970, how it should be shared? 
 
A ಯು  ರೂ. 5000  ನುನ್ ಹಾಕಿ ಉದಿದ್ಮೆ ಆರಂಭಿಸುತಾತ್ನೆ.   4 ತಿಂಗಳ ನಂತರ B ಯು ರೂ. 4000 ಹಾಕಿ A ಯನುನ್ ಸೇರುತಾತ್ನೆ. ವಷರ್ದ ನಂತರ ಲಾಭ  ರೂ. 

8970 ಆದರೆ, ಅದನುನ್ ಹೇಗೆ ಹಂಚುವುದು? 
 
A’s investment = 5000; Period of investment = 12 months 
Equivalent Statement >>>A’s investment for 1 month = Rs 60000(5000*12)  
 
B’s  investment    = Rs 8000; B’s period of investment = 8 months (joined after 4 months) 
Equivalent Statement >>>B’s investment for 1 month = Rs 32000(4000*8) (equivalent) 
 
So the investment ratio = 60,000:32,000 = 15:8 
 
So Rs 8970 has to be divided in the ratio of 15:8 

A’s share = 
23
15 *8970= 15*390=390*15=15*(400-10)= 6000-150= 5850. 

B’s share = 
23
8 *8970= 8*390=390*8=8*(400-10)= 3200-80= 3120.  

 
A ಯು ಹಾಕಿದ ಬಂಡವಾಳ = 5000; ತೊಡಗಿľದ ಅವಧಿ   12ತಿಂಗಳು 

ಇದು A ಯು  1ತಿಂಗĺಗೆ ರೂ  60000(5000*12)  ತೊಡಗಿľದದ್ಕೆಕ್ ಸಮ 

B ಯು ಹಾಕಿದ ಬಂಡವಾಳ = 8000; ತೊಡಗಿľದ ಅವಧಿ   8ತಿಂಗಳು(4 ತಿಂಗಳ ನಂತರ ಸೇರಿರುತಾತ್ನೆ) 

ಇದು B ಯು  1ತಿಂಗĺಗೆ ರೂ  32000(4000*8)  ತೊಡಗಿľದದ್ಕೆಕ್ ಸಮ ಮತುತ್  

∴ ಅವರುಗಳು ತೊಡಗಿľದ ಬಂಡವಾಳದ ಅನುಪಾತ 60,000:32,000 = 15:8 

Ŀೕಗಾಗಿ ಲಾಭ 8970 ರೂಗಳನುನ್  ಇದೇ ಅನುಪಾತದĹಲ್ ಹಂಚಬೇಕು.       

A ಯ ಪಾಲು= 
23
15 *8970= 15*390=390*15=15*(400-10)= 6000-150= 5850.;  

B ಯ ಪಾಲು= 8970-5850= 3120 
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Problem 3:  A and B started business with investing money in 4:9 ratios. After 4 months A took out his money. 
What should be the ratio of their shares in profit after 8 months? 
  

A ಮತುತ್ B ಎನುನ್ವವರು 4:9  ಅನುಪಾತದĹಲ್ ಹಣವನುನ್ ಹೂಡುತಾತ್ರೆ. 8 ತಿಂಗಳ ನಂತರ A ಯು ಹಣವನುನ್ Ŀಂಪಡೆದರೆ  8 ತಿಂಗಳ ನಂತರ ಅವರು ಯಾವ  

ಅನುಪಾತದĹಲ್ ಲಾಭವನುನ್ ಹಂಚಿಕೊಳಳ್ಬೇಕು?   
 
Note A’s investment is only for 4 months and B’s investment is for 8 months 
Investment ratio of A and B       = 4:9  
Ratio of their investment period = 4:8 
Ratio of profit sharing               =4*4:9*8 = 2:9 
 

 
ಅವರ ಬಂಡವಾಳದ ಅನುಪಾತ                       = 4:9       

ಅವರು ತೊಡಗಿľದ ಅವಧಿಯ(ತಿಂಗಳ)  ಅನುಪಾತ = 4:8 

∴ ಲಾಭಾಂಶ ಹಂಚಿಕೆಯ ಅನುಪಾತ                 =4*4:9*8 = 2:9
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Average (Mean) / ಸರಾಸರಿ 

 

Average =   
readingsofNumber __

_readingsSum_of_all = ಎಲಾಲ್ ಮಾಪನಗಳ ūತತ್ ÷ ಮಾಪನಗಳ ಸಂಖೆಯ್ =ಮೌಲಯ್ಗಳ ūತತ್ ÷ ಮೌಲಯ್ಗಳ ಸಂಖೆಯ್ 

 
Problem  1: The average of five consecutive odd numbers is 41. What is the largest number? 
5 ಅನುಕರ್ಮ ಬೆಸ ಸಂಖೆಯ್ಗಳ ūತತ್  41 ಆದರೆ ಅವುಗಳĹಲ್ ದೊಡಡ್ ಸಂಖೆಯ್ ಯಾವುದು? 
 
Solution: 
Let x be the first odd number, then next 4 consecutive odd numbers are x+2, x+4, x+6, x+8  
(For easy calculation we can also take 2 consecutive odd numbers before x and next 2 consecutive odd numbers 
after x. Then they are x-4, x-2, x, x+2, x+4 and the sum becomes just 5x) 
 

Given 
5

8)}(x6)(x4)(x2)(x{x ++++++++  = 41; 
5

205x + = 41; Thus x=37.  

Thus 5 consecutive odd numbers are  37, 39, 41,43, 45.  
Largest is 45.  
 
 
ūದಲ ಬೆಸ ಸಂಖೆಯ್ x ಆಗಿರĹ. ಮುಂದಿನ   ಅನುಕರ್ಮ ಬೆಸ ಸಂಖೆಯ್ಗಳು x+2, x+4, x+6, x+8 

ಈ ಎಲಾಲ್ ಬೆಸ ಸಂಖೆಯ್ಗಳ ūತತ್ 5x+20  

∴
5

205x + = 41 ∴ x=37. ಅತೀ ದೊಡಡ್ ಸಂಖೆಯ್ 45(=x+8) 
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Problem 2: On teacher’s day sweets are to be distributed equally among 540 children. On that day, because of 
135 children were absent; each child got 2 sweets extra. How many sweets was each child supposed to get? 
 

ļಕಷ್ಕರ ದಿನದಂದು  540 ಮಕಕ್ĺಗೆ ಸಮಾನವಾಗಿ ಮಿಠಾಯಿ ಹಂಚಬೇಕಾಗಿದೆ. ಆದರೆ ಅಂದು 135  ಮಕಕ್ಳು ಬಂದಿರĹಲಲ್. Ŀೕಗಾಗಿ ಉĺದ ಮಕಕ್ಳು ತಲಾ 2 

ಮಿಠಾಯಿ ಜಾľತ್ ಪಡೆದರು. ಎಲಾಲ್ ಮಕಕ್ಳು ಬಂದಿದದ್ರೆ ತಲಾ ಎಷುಟ್ ಮಿಠಾಯಿ ಪಡೆಯುತಿತ್ದದ್ರು? 

 
Solution: 
Let x be the sweets children were supposed to get 
Number of sweets = 540*x 
Since 135 were absent, that day’s attendance was   405 (=540-135)  
These 405 children got 2 sweets extra. 
Since total number of sweets were same 
 
540x= 405(x+2) = 405x+ 810 
135x= 810 
∴x= 6 
 
 

ಪರ್ತಿŴಂದು ಮಗುವೂ ಪಡೆಯಬೇಕಾಗಿದದ್ ಮಿಠಾಯಿ x ಆಗಿರĹ 

∴ ಒಟುಟ್ ಮಿಠಾಯಿಗಳ ಸಂಖೆಯ್= 540*x   ------(1) 

135 ಮಕಕ್ಳು ಬರದೇ ಇದುದ್ದರಿಂದ ಅಂದಿನ ಹಾಜರಾತಿ = 405 (=540-135) 

ಈ  405 ಮಕಕ್ಳು ಪಡೆದ ಮಿಠಾಯಿ ತಲಾ 2 ಹೆಚಾಚ್ದುದರಿಂದ ಅಂದು ಹಂಚಿದ ಮಿಠಾಯಿಗಳ ಸಂಖೆಯ್=405(x+2)  ------(2) 
∴540x= 405(x+2) = 405x+ 810 
∴x= 6 
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Problem 3: The average weight of group of 60 boys was calculated as 42 kg. it was then noticed that weight of 
one boy was mistakenly taken as 48 kg in stead of 38 kg. What is the correct approximate average weight? 
  

60 ಹುಡುಗರ ಸರಾಸರಿ ತೂಕ 42 ಕೆ.ಜಿ. ಅದರĹಲ್ ಒಬಬ್ನ ತೂಕ 38 ಕೆ.ಜಿ.ಬದಲು 48 ಕೆ.ಜಿ. ಎಂದು ತಪಾಪ್ಗಿ ಲೆಕಕ್ಹಾಕಲಾಗಿತುತ್. ಸರಿಯಾದ ಅಂದಾಜು ಸರಾಸರಿ 

ತೂಕ ಎಷುಟ್? 
 
Solution: 

Wrong (old) Average weight =42 = 
60

_weightOld_sum_of . 

Since weight of one boy was mistakenly increased by 10(48-38)   

Correct average =  
60

10)-f_weight(Old_sum_o = 
60

_weightOld_sum_of  - 
60
10 = Old_Average- 

60
10 = 42- 0.16= 41.84  

Note the short method used here. 
 
ತಪಾಪ್ಗಿದದ್ ಸರಾಸರಿ ತೂಕ =42 = (ಎಲಾಲ್ ಹುಡುಗರ ತಪಾಪ್ದ ಒಟುಟ್ ತೂಕ) ÷60 

ಸರಿಯಾದ ಸರಾಸರಿ ತೂಕ= (ಎಲಾಲ್ ಹುಡುಗರ ತಪಾಪ್ದ ಒಟುಟ್ ತೂಕ-10) ÷60 

= (ಎಲಾಲ್ ಹುಡುಗರ ತಪಾಪ್ದ ಒಟುಟ್ ತೂಕ) ÷60-
60
10 = ತಪಾಪ್ಗಿದದ್ ಸರಾಸರಿ ತೂಕ-

60
10 = 42- 0.16= 41.84 

 
Problem 4: The average attendance for the first 3 days of a week is 325 and for the first 4 days of the same 
week is 320. How many were present on the 4th day? 
 

ūದಲ 3 ದಿನದ ಸರಾಸರಿ ಹಾಜರಾತಿ 325 ಹಾಗೇ ūದಲ4 ದಿನದ ಸರಾಸರಿ ಹಾಜರಾತಿ  320 ಆಗಿದದ್ರೆ   4 ನೇ ದಿನದಂದು ಎಷುಟ್  Ļದಾಯ್ಥಿರ್ಗಳು ಹಾಜರಿದದ್ರು? 
Solution: 
Total attendance for first 3 days = 325*3= 975 =  ūದಲ 3 ದಿನಗಳ ಒಟುಟ್  ಹಾಜರಾತಿ ದಿನಗಳು 

Total attendance for first 4 days = 320*4=  1280= ūದಲ 4 ದಿನಗಳ ಒಟುಟ್  ಹಾಜರಾತಿ ದಿನಗಳು 

So attendance for 4th day = 1280-975 = 305       =   4 ನೇ ದಿನದ  ಹಾಜರಾತಿ 
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Problem 5: The average of weight 10 men is increased by 1.5 kg when a man weighing 68 kg is replaced by a 
new man. Find the weight of new man. 

 
68  ಕೆ.ಜಿ. ತೂಕĻರುವ  ಮನುಷಯ್ನ  ಬದಲು  ಹೊಸಬನೊಬಬ್ನನುನ್  ಸೇರಿľಕೊಂಡಾಗ  10 ಜನರ ಸರಾಸರಿ ತೂಕ  1.5  ಕೆ.ಜಿ ಯಷುಟ್ ಜಾľತ್ ಆದರೆ ಹೊಸದಾಗಿ 

ಸೇರಿľಕೊಂಡವನ ತೂಕ ಎಷುಟ್? 

 
Solution: 
Let us use logic here. When average of weight of 10 men is increased by 1.5 kg, the total weight will increase by 
15 kg(1.5*10). Since the man was weighing 68 kg, new man has to be of 83 kg(68+15)  
10 ಜನರ ಸರಾಸರಿ ತೂಕ  1.5  ಕೆ.ಜಿ ಯಷುಟ್ ಜಾľತ್ಯಾದರೆ ಆಗ ಎಲಲ್ ಜನರ ಒಟುಟ್ ತೂಕ 15 ಕೆ.ಜಿ (=1.5*10) ಜಾľತ್ ಆಗುತತ್ದೆ. Ŀಂದಿನವನ ತೂಕ 68  ಕೆ.ಜಿ. 

ಇದುದ್ದರಿಂದ ಹೊಸಬನ ತೂಕ   83 ಕೆ.ಜಿ (=68+15) 
 
Problem 6: In an examination it is required to get 380 of the total(Max) marks to pass. A student gets 32% 
marks and is failed by 76 marks. What are the total marks? 
 

ಪರೀďೆŴಂದರĹಲ್  ಉತಿತ್ೕಣರ್ನಾಗಲು  ಒಟುಟ್  380ಅಂಕಗಳನುನ್ ಗĺಸಲೇ ಬೇಕು. ಒಬಬ್ 32% ಪಡೆದು  76 ಅಂಕಗಳ ಕೊರತೆಯಿಂದ ಅನುತಿತ್ೕಣರ್ನಾದರೆ, 

ಪರೀďೆಗಾಗಿ ಇರಿľದ ಒಟುಟ್ ಅಂಕಗಳು ಎಷುಟ್? 
Solution: 
Let x be the total marks in the examination.   
Marks obtained by student = 380-76 = 304      

If 32% of x is 304 then x = 
32

304 *100=
4
100*38 = 950 (use divisibility test for 8) 

 
x ಪರೀďೆಗಾಗಿ ಇರಿľದ ಒಟುಟ್ ಅಂಕಗಳು  ಆಗಿರĹ.  

ಅನುತಿತ್ೕಣರ್ನಾದವ ಗĺľದ ಅಂಕಗಳು = 380-76 = 304 

x  ನ 32% 304 ಆದರೆ  x = 
32

304 *100=
4
100*38 = 950 (8 ರ ಭಾಜಯ್ತೆಯ ನಿಯಮವನುನ್ ಉಪŴೕಗಿľ)  

{32% == 304; 100% == ?} 
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Age Related/ ವಯľಸ್ಗೆ ಸಂಬಂಧಿľದಂತೆ 

 
Problem 1: The average age of a woman and her daughter is 21 yrs. The ratio of their ages is 5:1. What will be 
the ratio of their ages after 5 yrs? 
 

ಓವರ್ ಹೆಂಗಸು ಮತುತ್ ಅವಳ ಮಗಳ ಸರಾಸರಿ ವಯಸುಸ್ 21 ವಷರ್ಗಳು. ಅವರ ವಯಸುಸ್ಗಳ ಅನುಪಾತ 5:1.  ವಷರ್ದ ನಂತರ ಅವರ ವಯಸುಸ್ಗಳ ಅನುಪಾತ? 

Solution: 
Let x be the age of daughter and hence 5x will be the age of woman 

It is given that 
2

x)(5x + =21   

∴ 3x = 21 and hence x= 7 and therefore the ages are 35 and 7  
After 5 years their ages will be 35+5= 40 and 7+5=12 
∴ New ratio = 40:12 = 10:3 
 

 
x ಎನುನ್ವುದು  ಮಗಳ ವಯಸುಸ್ ಆಗಿರĹ.   

∴ತಾಯಿಯ ವಯಸುಸ್ =5x.  

ಸರಾಸರಿ ವಯಸುಸ್ =
2

x)(5x + =21   

∴3x = 21; x= 7 
ಈಗ ಅವರ ವಯಸುಸ್ 35 ಮತುತ್  7 ಆಗಿದುದ್ 5  ವಷರ್ಗಳ ನಂತರ ಅವರ  ವಯಸುಸ್ 40  ಮತುತ್ 12 ಆಗುತತ್ದೆ.  

ಆಗ ವಯಸುಸ್ಗಳ ಅನುಪಾತ = 40:12 = 10:3 
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Problem 2: At present A is 3 times the age of B. After 7 years A will be twice B’s age. How many times A’s age 
will be in another 14 years with respect to B’s age then? 
 

ಸದಯ್  A ಯು  B ಯ ವಯľಸ್ನ ಮೂರರಷುಟ್ ಆಗಿದೆ. 7 ವಷರ್ಗಳ ನಂತರ  A ಯ ವಯಸುಸ್  B ಯ ಎರಡರಷುಟ್. 14 ವಷರ್ಗಳ ನಂತರ A ಯ ವಯಸುಸ್ B ಯ 

ವಯľಸ್ನ ಎಷಟ್ರಷುಟ್ ಆಗುತತ್ದೆ. 

 
Solution: 
Let 'a' be the age of A and 'b' be the age of B, Then A’s age is 3b. After 7 years B’s age is b+7 and A’s age is 
2(b+7) 
 ∴ a+7= 2b+14.  it is also given that  a=3b 
∴ 3b+7 = 2b+14  
∴ b=7 
Thus at present B’s age is 7 and A’s age is 21.  
After 7 years B’s is 14 and A’s 28.  
After another 14 years B’s is 28 and A’s 42   
Therefore then A’s age is 1.5 times B’s 
 
 

A ಯ ವಯಸುಸ್ a ಮತುತ್ B ಯ ವಯಸುಸ್ b  ಆಗಿರĹ.  

∴ A ಯ ವಯಸುಸ್ 3b.  

7 ವಷರ್ಗಳ ನಂತರ    B ಯ ವಯಸುಸ್ b+7 ಮತುತ್ A ಯ ವಯಸುಸ್2(b+7) 
∴ a+7= 2b+14 
∴ 3b+7 = 2b+14 (Qa=3b) 
∴ b=7 
ಈಗ B ಯ ವಯಸುಸ್ 7  ಹಾಗಾಗಿ ಈಗ ಮತುತ್ A ಯ ವಯಸುಸ್ 21.  7 ವಷರ್ಗಳ ನಂತರ ಅದು 14 ಮತುತ್ 28 . ಇನೂನ್  14 ವಷರ್ಗಳ ನಂತರ B ಯ ವಯಸುಸ್ 

28 ಮತುತ್ A ಯ ವಯಸುಸ್ 42. Ŀೕಗಾಗಿ A ಯ ವಯಸುಸ್   B ಯ  ವಯľಸ್ನ  1.5 ಪಟುಟ್ ಆಗುತತ್ದೆ. 
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Problem 3: A father's age is 3 years more than thrice the age of his son. 3 years later, the father will be 10 
years more than twice the age of his son. Currently, what is the ratio of their ages? 
 

ಓವರ್ ತಂದೆಯ ವಯಸುಸ್ ಮಗನ ವಯľಸ್ನ ಮೂರರಷಟ್ಕಿಕ್ಂತ  3 ವಷರ್ ಹೆಚುಚ್. . 3 ವಷರ್ಗಳ ನಂತರ ತಂದೆಯ ವಯಸುಸ್ ಮಗನ ವಯľಸ್ನ ಎರಡರಷಟ್ಕಿಕ್ಂತ 10 

ಹೆಚುಚ್ ಆಗುತತ್ದೆ. ಈಗ ಅವರ  ವಯľಸ್ನ ಅನುಪಾತ  ಎಷುಟ್? 

 
Solution: 
Let ’s’ be the age of son and 'f' be the age of the father 
It is given f=3s+3  ----(1) 
f+3= 10+2(s+3) ==  (After 3 years) 
∴f= 10+2s+6-3 = 2s+13 --- (2) 
From (1) & (2) 
f=3s+3= 2s+13 >> s=10, f=33,   33:10 
 
 

ಮಗನ ವಯಸುಸ್  s ಮತುತ್ ತಂದೆಯ ವಯಸುಸ್ f ಆಗಿರĹ 

f=3s+3  ----(1) 
f+3= 10+2(s+3) ==  (3 ವಷರ್ಗಳ ನಂತರ ) 
∴f= 10+2s+6-3 = 2s+13 --- (2) 
ಸಮೀಕರಣ  (1) ಮತುತ್  (2) ರಿಂದ 

f=3s+3= 2s+13 ∴ s=10, f=33,   
33:10 
 
 
 
 



A P
roj

ec
t o

f w
ww.eS

ha
le.

org

         36 
 

 

Simple Interest / ಸರಳ ಬಡಿಡ್ 

 

SI(ಸರಳ ಬಡಿಡ್) =
100

R*T*P   

Where P= Principal (Amount)(ಅಸಲು), T= Term (normally years)(ಅವಧಿ), R= Rate of interest(ಬಡಿಡ್ಯ ದರ) 

P =  
RT *
SI*100 ; T=

RP *
SI*100  ; R=

TP *
SI*100  

Problem 1:  The simple interest accrued in 9 years on a principal of Rs 24250 is 162% of Principal. What is the 
rate of interest% per annum? 
ಅಸಲು ರೂ 24250 ರ ಮೇಲೆ 9 ವಷರ್ಕೆಕ್ ಸರಳಬಡಿಡ್ ಅಸĹನ 162% ರಷಾಟ್ದರೆ  ಬಡಿಡ್ಯ ದರ ಎಷುಟ್? 

Solution: 

Here P= 24250, T=9, SI = 
100
162 *24250  ; R=? 

100
162 *24250=

100
R*9*24250 (By formula SI =

100
R*T*P ) 

∴162= 9R 
R= 18% 
 
Problem 2: A sum of money doubles itself in 8 years. What is the rate of simple interest? 
 

ಅಸಲು  8 ವಷರ್ಗಳĹಲ್ ಇಮಮ್ಡಿಯಾದರೆ ಸರಳ ಬಡಿಡ್ಯ ದರ ಎಷುಟ್? 

 
Solution: 
Here T=8, SI=P (Money doubles means>>   interest=Principle) 

ಅಸಲು ಇಮಮ್ಡಿಯಾಗುತತ್ದೆ ಅಂದರೆ ಬಡಿಡ್ಯು ಅಸĹಗೆ ಸಮವಾಗುತತ್ದೆ 

SI = 
100

R*8*P =P 

8
100  = R= 12.5%  
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Problem 3 : The simple interest on a sum of money is 
16
1  of the principal and the number of years is equal to 

the rate per cent per annum. What is the rate per annum? 
 

ಒಂದು ಅಸĹನ  ಮೇಲೆ ಸರಳಬಡಿಡ್ಯು ಅಸĹನ 
16
1

 ರಷುಟ್ ಆಗುತತ್ದೆ. ಅವಧಿಯು ಬಡಿಡ್ಯದರಕೆಕ್ ಸಮವಾದರೆ ಬಡಿಡ್ಯ ದರ ಎಷುಟ್? 

Solution: 

Given :  SI = P*(
16
1 ) ; T=R 

 

SI = 
100

R*T*P  (Formula) 

P*(
16
1 )   = 

100
R*R*P  

 

16
100 = R2= 

4*4
10*10  

R= 
4

10 = 2.5% 
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Compound Interest (CI) / ಚಕರ್ ಬಡಿಡ್ 

Amount Receivable (A) = P{(1+
100
R )T} and    Compound Interest(CI) = P{(1+

100
R )T-1} 

Notes:  
1. When T=1, CI = SI 
2. When interest is compounded quarterly,  ಬಡಿಡ್ಯನುನ್ 3 ತಿಂಗĺಗೊಮೆಮ್ ಲೆಕಕ್ ಹಾಕಿದರೆ:- 

T= 4*n and R= 
4
R ; Then CI = P{(1+

400
R )4n-P} 

Simplified Formula: 

1.  When T = 2 Then A (=P+CI) = P+ 
100

*2
100

*
2

2 RPRP
+               ---   Applied formula for (a+b)2 

 

2.  When T =3 Then A (=P+CI) = P+ +3

3

100
* RP

2

2

100
*3 RP +

100
*3 RP   ---   Applied formula for (a+b)3 

 
Problem 1:  What is the Compound interest on an amount of 18000 at the end of 3 years at the rate of 10% 
 
10% ಬಡಿಡ್ಯದರದಂತೆ ರೂ 18000  ಅಸĹನ ಮೇಲೆ  3 ವಷರ್ಗಳ ನಂತರ ľಗುವ  ಚಕರ್ಬಡಿಡ್ ಎಷುಟ್? 

 
Solution: 
Here P = 18000 T=3 , R=10 

CI = 18000{(1+
100
10 )3-1} 

=18000{(
10*10*10
11*11*11 )- 1} 

=18000*(11*11*11/1000-1) 

=18000*
1000

1000)-11*(121  

=18*(1331-1000) = 18*331 = (330+1)*18 = 5940+18= 5958  
 
Note: Use 2nd formula to cross check if above answer is correct or not. 
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Problem 2:  The difference between compound interest and simple interest on an amount for 2 years at 5% per 
annum is Rs 12.50. What is the amount? 
ಒಂದು ಅಸĹನ ಮೇಲೆ 5%  ಬಡಿಡ್ದರದಂತೆ 2 ವಷರ್ಗಳĹಲ್ ಸರಳ ಬಡಿಡ್ ಮತುತ್ ಚಕರ್ಬಡಿಡ್ಯĹಲ್ನ ವಯ್ತಾಯ್ಸ  ರೂ. 12.50 ಆದರೆ ಅಸಲು ಎಷುಟ್? 

Solution: 
Here T=2 and R=5 and we need to find P when CI-SI= 12.50( CI>SI) 

CI-SI = P[(1+
100
R )T-1]- 

100
R*T*P   

= P{[(1+
100

5 )(1+
100

5 ) -1]-2*
100

5 } 
 

=  P (
20
21 *

20
21 -1-

10
1 } 

=P(
400
441 -1-

10
1 } = P{

400
40)-400-(441 }= 

400
P = 12.50(Given) 

 
∴ P= 12.50*400= 5000 
 
Let us use the below mentioned first formula to cross check the answer: 
 

1. Formula for P (When period is 2 Years) = 2

2100*)(
R
SICI −  = 2

2100*50.12
R

=
25

100*100*50.12 =5000 

2. Formula for P (When period is 3 Years) = 23

3

300
100*)(
RR

SICI
+
−  
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People, time and work / ಜನರು, ಸಮಯ, ಕೆಲಸ 
Problem 1: 12 men can complete the work in 56 days. In how many days can 32 men complete the work? 
 

ಒಂದು ಕೆಲಸವನುನ್ 12 ಜನರು 56 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಹುದಾದರೆ,  32 ಜನರು ಅದೇ ಕೆಲಸವನುನ್ ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು? 

Solution :( Using logic and not formula) 
To complete the work number of ‘man/person’ days required are 56*12.(We will not simplify here) 
32 men will require same number of man/person days to complete the work 

So number of days required by 32 men are =
32

12*56   = 7*3 = 21 days (note time saved) 

ಕೆಲಸವನುನ್ ಮುಗಿಸಲು ತಗಲುವ ’ಮನುಷಯ್ ದಿನ’ಗಳು =56*12 (=ಒಬಬ್ನೇ ಕೆಲಸಮಾಡಿದರೆ ತೆಗೆದುಕೊಳುಳ್ವ ದಿನಗಳು) 

 32 ಜನರು  ಅದೇ ಕೆಲಸವನುನ್ ಮುಗಿಸಲು ಅಷೆಟ್ೕ ’ಮನುಷಯ್ ದಿನ’ಗಳನುನ್ ತೆಗೆದುಕೊಳುಳ್ತಾತ್ರೆ. 

∴  32 ಜನರು  ಅದೇ ಕೆಲಸವನುನ್ ಮುಗಿಸಲು ತೆಗೆದುಕೊಳುಳ್ವ ದಿನಗಳು =
32

12*56   = 7*3 = 21  

Problem 2: 15 persons can fill 35 boxes in 7 days. How many persons are required to fill 65 boxes in 5 days 
 
15 ಜನರು  35 ಡಬಬ್ಗಳನುನ್ ತುಂಬಿಸಲು ತೆಗೆದುಕೊಳಳ್ಲು 7 ದಿನಗಳನುನ್ ತೆಗೆದುಕೊಂಡರೆ 65 ಡಬಬ್ಗಳನುನ್5  ದಿನಗಳĹಲ್ ತುಂಬಿಸಲು ಎಷುಟ್ ಜನರು ಬೇಕು? 
Solution: Consider filling of 35 boxes as a ‘job’ 
To do that ‘job’ number of 'man days' required are 15*7 
Same number of ‘man days’ is required to do that job in 5 days 

So number of people required to do that ‘job’ in 5 days =
5

7*15  = 21 men 

Since the ‘job’ is filling of 35 boxes 
To do filling 35 boxes number of people required = 21 

To do filling of 65 boxes we require = 
35
21 *65= 39 men  

 
35 ಡಬಬ್ಗಳನುನ್ ತುಂಬಿಸುವುದು ಒಂದು ’ಕೆಲಸ’ ಎಂದಾದರೆ ಆ ಕೆಲಸಮಾಡಲು ಬೇಕಾಗುವ ’ಮನುಷಯ್ ದಿನ’ಗಳು=15*7 

5 ದಿನಗಳĹಲ್ ಆ ’ಕೆಲಸ’ ವನುನ್ ಮುಗಿಸಬೇಕಾದರೆ  ಬೇಕಾಗುವ ಜನರು=
5

7*15  = 21 

35 ಡಬಬ್ಗಳನುನ್  ತುಂಬಿಸಲು ಬೇಕಾಗುವ ಜನರು= 21; ∴65 ಡಬಬ್ವನುನ್ ತುಂಬಿಸಲು ಬೇಕಾಗುವ ಜನರು= 
35
21 *65= 39 
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Problem 3: 
50 people can complete a work in 40 days. In how many days can 100 people with twice the efficiency complete 
the same work? 
 

ಒಂದು ಕೆಲಸವನುನ್  50 ಜನರು 40 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು. ಅದೇ ಕೆಲಸವನುನ್ ಎರಡರಷುಟ್ ದಕಷ್ತೆ ಇರುವ 100 ಜನರು ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು? 

 
Solution: 
To complete the work, man days required are 50*40 

When 100 people will be working, man days required are =
100

40*50  = 20 days 

Since people are twice efficient, days required are 10 days (=
2
20 )  

 

ಕೆಲಸವನುನ್ ಮುಗಿಸಲು ಬೇಕಾಗುವ ’ಮನುಷಯ್ ದಿನ’ಗಳು=50*40 

ಅದೇ ಕೆಲಸವನುನ್  ಜನರು  ಮುಗಿಸಲು ಬೇಕಾಗುವ ದಿನಗಳು=
100

40*50 =20 

ಜನರು ಎರಡರಷುಟ್ ದಕಷ್ತೆಹೊಂದಿರುವುದರಿಂದ ಕೆಲಸ ಮುಗಿಸಲು ಬೇಕಾಗುವ ದಿನಗಳು=
2
20 =10
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Formula: 
1

1111 ***
W

ERDN = 
2

2222 ***
W

ERDN  

 
N1, N2 = No of workers; ಕೆಲಸಗಾರರು 

D1, D2 = Time (days, hours..).ಸಮಯ 

R1, R2 = Rate of worker or Rate of Machine, ಕೆಲಸಗಾರನ ಮಜೂರಿ,ಯಂತರ್ದ ಬೆಲೆ( ಗಂಟೆಗಳ ಲೆಕಕ್ದĹಲ್ರಬಹುದು) 

E1, E2 = Efficiency of worker or Efficiency of Machine (E1=E2 =1 when not specified)/ಸಾಮಥಯ್ರ್/ಶಕಿತ್ 

W1, W2 = Amount of work done or quantum of resources available/ಕೆಲಸ 

Problem 4: 12 men can complete the work in 56 days. In how many days can 32 men complete the work? 
 

ಒಂದು ಕೆಲಸವನುನ್ 12 ಜನರು 56 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಹುದಾದರೆ,  32 ಜನರು ಅದೇ ಕೆಲಸವನುನ್ ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು? 

Solution: Let x be the number of days required./   x ಎನುನ್ವುದು ಬೇಕಾಗುವ ದಿನಗಳಾಗಿರĹ. 

1

1111 ***
W

ERDN = 
2

2222 ***
W

ERDN  (Note: W1= W2  ) 

12*56= 32*x 
∴ x= 12*56/32= 3*4*7*8/8*4= 21 days 
 
Problem 5: 15 persons can fill 35 boxes in 7 days. How many persons are required to fill 65 boxes in 5 days 
 
15 ಜನರು  35 ಡಬಬ್ಗಳನುನ್ ತುಂಬಿಸಲು ತೆಗೆದುಕೊಳಳ್ಲು 7 ದಿನಗಳನುನ್ ತೆಗೆದುಕೊಂಡರೆ 65 ಡಬಬ್ಗಳನುನ್5  ದಿನಗಳĹಲ್ ತುಂಬಿಸಲು ಎಷುಟ್ ಜನರು ಬೇಕು? 

Solution: 
Let x be the number of persons required to fill 65 boxes/ x ಎನುನ್ವುದು ಬೇಕಾಗುವ ಜನರ ಸಂಖೆಯ್ಯಾಗಿರĹ. 

1

1111 ***
W

ERDN = 
2

2222 ***
W

ERDN  

35
7*15 =

65
5*x  

∴  x= 
5*35
65*7*15 = 39 men 
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Problem 6: 50 people can complete a work in 40 days. In how many days can 100 people with twice the 
efficiency complete the same work? 
ಒಂದು ಕೆಲಸವನುನ್  50 ಜನರು 40 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು. ಅದೇ ಕೆಲಸವನುನ್ ಎರಡರಷುಟ್ ದಕಷ್ತೆ ಇರುವ 100 ಜನರು ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು? 

Here  E1 = 1  and E2 = 2 Let  x be the number of days required to complete the work 
x ಎನುನ್ವುದು ಬೇಕಾಗುವ ದಿನಗಳಾಗಿರĹ. 

1

1111 ***
W

ERDN = 
2

2222 ***
W

ERDN  (Note: W1= W2 ) (ಕೆಲಸ ಒಂದೇ ಆಗಿದೆ) 

∴  50*40*1= 100*x*2 

x= 
2

4*5 = 10 days. 

Problem 7: 6 women can do a job in 10 days. 10 children take 15 days to do that job. How many days will 6 
women and 10 children together can do that job? 
ಒಂದು ಕೆಲಸ ಮುಗಿಸಲು 6 ಹೆಂಗಸರಿಗೆ10 ದಿನಗಳು ಬೇಕು. ಅದೇ ಕೆಲಸ ಮುಗಿಸಲು  10  ಮಕಕ್ĺಗೆ  15 ದಿನಗಳು ಬೇಕು.  6 ಹೆಂಗಸರು ಮತುತ್ 15 ಮಕಕ್ಳು ಸೇರಿ 

ಅದೇ ಕೆಲಸ ಮುಗಿಸಲು ಎಷುಟ್ ದಿನಗಳು ಬೇಕು. 

6 women to do a job in 10 days.; Hence work done by 6 women in 1 day = 
10
1 th of the job. 

10 children do the same job in 15 days.; Hence work done by 10 children in 1 day= 
15
1 th of job 

Hence work done by both together in 1 day = 
10
1 +

15
1 = 

30
3 +

30
2 = 

30
5  (30 is  LCM of 10 and 15)= 

6
1 th of the job. 

To do 
6
1 th of the job days required=1; ∴ To do complete job they require 1÷ 

6
1 days= 6 days. 

6 ಹೆಂಗಸರಿಗೆ ಕೆಲಸ ಮುಗಿಸಲು 10 ದಿನಗಳು ಬೇಕು. ; 6 ಹೆಂಗಸರು 1  ದಿನದĹಲ್ ಮಾಡುವ ಕೆಲಸ, ಕೆಲಸದ   
10
1

ರಷುಟ್. 

10 ಮಕಕ್ĺಗೆ ಕೆಲಸ ಮುಗಿಸಲು 15 ದಿನಗಳು ಬೇಕು. ; 10 ಮಕಕ್ಳು  1  ದಿನದĹಲ್ ಮಾಡುವ ಕೆಲಸ, ಕೆಲಸದ  
15
1

ರಷುಟ್. 

∴ 6 ಹೆಂಗಸರು  ಮತುತ್ 10 ಮಕಕ್ಳು  1  ದಿನದĹಲ್ ಮಾಡುವ ಕೆಲಸ = 
10
1 +

15
1 = 

30
3 +

30
2 = 

30
5  = 

6
1

 ರಷುಟ್. 

6
1

 ರಷಟ್ರ ಕೆಲಸ ಮುಗಿಸಲು ಬೇಕಾಗುವ ದಿನ =1 ∴ ಕೆಲಸ ಪೂತಿರ್ ಮಾಡಲು ಬೇಕಾಗುವ  ದಿನಗಳು =1÷ 
6
1  = 6 



A P
roj

ec
t o

f w
ww.eS

ha
le.

org

         44 
 

 

Problem 8:A and B Together can do a work in 4 Days.  A alone can do that work in 12 days. In how many days 
can B alone do that work? 
A ಮತುತ್ B ಜೊತೆಯಾಗಿ ಒಂದು ಕೆಲಸವನುನ್ 4 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು.  A ಒಬಬ್ನೇ  ಆ ಕೆಲಸವನುನ್  12 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ನು. ಹಾಗಿದದ್ರೆ  B ಒಬಬ್ನೇ ಅದೇ 

ಕೆಲಸವನುನ್ ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ನು? 

  
Solution: 

A can do the work in 12 days; hence in 1 day he can do 
12
1 th of the work 

Le B alone can do that work in x days. ; Hence in 1 day B can do (
x
1 )th  of work 

In 1 day A and B Together can do 
12
1 +

x
1 of work = 

x12
12)(x +  

To do 
x12
12)(x + work both together will require 1 day 

To complete the work both together will require = 1 ÷  
x12
12)(x + = 

12
12x
+x

 which is given to be 4 days 

∴
12

12x
+x

= 4; 12x = 4x+48(cross multiplication); 8x= 48; x =6 Thus B can alone do that work in 6 days. 

 

A ಒಬಬ್ನೇ  12 ದಿನಗಳĹಲ್ ಕೆಲಸ ಮುಗಿಸಬಲಲ್ನು; ∴ ಅವನು 1  ದಿನದĹಲ್  
12
1

   ರಷುಟ್ ಕೆಲಸವನುನ್ ಮುಗಿಸಬಲಲ್ನು. 

B ಒಬಬ್ನೇ  x ದಿನಗಳĹಲ್ ಕೆಲಸ ಮುಗಿಸಬಲಲ್ವನು ಆಗಿರĹ; ∴ ಅವನು 1  ದಿನದĹಲ್  
x
1

   ರಷುಟ್ ಕೆಲಸವನುನ್ ಮುಗಿಸಬಲಲ್ನು. 

∴ ಇಬಬ್ರೂ ಸೇರಿ 1 ದಿನದĹಲ್ ಮಾಡುವ ಕೆಲಸ =
12
1 +

x
1

 ರಷುಟ್ = 
x12
12)(x + ;  

x12
12)(x +   ರಷುಟ್ ಕೆಲಸಮಾಡಲು ಬೇಕಾಗುವ ದಿನ= 1 

∴ ಪೂತಿರ್ ಕೆಲಸ ಮುಗಿಸಲು ಬೇಕಾಗುವ ದಿನಗಳು = 1 ÷  
x12
12)(x + = 

12
12x
+x

( ಇದು  4 ದಿನಗಳು ಎಂದು ಕೊಟಿಟ್ದೆ) 

∴
12

12x
+x

= 4; 12x = 4x+48; 8x= 48; x =6;  B ಯು ಒಬಬ್ನೇ  ಅದೇ ಕೆಲಸವನುನ್ 6 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ನು. 
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Formula : ಸೂತರ್ 

Suppose A can finish a job in ‘m’ units (Days, Hours, Months..) of time and B can finish the same job in ‘n’ units 

of time. Then time taken by both A and B together to complete the same work = t =
nm +

mn  

 A ಯು m ಕಾಲಮಾನಗಳĹಲ್(ದಿನ,ಗಂಟೆ,ತಿಂಗಳು...)  ಒಂದು ಕೆಲಸಮುಗಿಸĹ.  B  ಯು  ಅದೇ ಕೆಲಸವನುನ್ n  ಕಾಲಮಾನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ವನಾದರೆ ಇಬಬ್ರೂ 

ಸೇರಿ ಅದೇ ಕೆಲಸವನುನ್  
nm +

mn = t  ಕಾಲಮಾನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು. 

 
Problem 9: 6 women can do a job in 10 days. 10 children take 15 days to do that job. How many days will 6 
women and 10 children together can do that job? 
 

ಒಂದು ಕೆಲಸ ಮುಗಿಸಲು 6 ಹೆಂಗಸರಿಗೆ10 ದಿನಗಳು ಬೇಕು. ಅದೇ ಕೆಲಸ ಮುಗಿಸಲು  10  ಮಕಕ್ĺಗೆ  15 ದಿನಗಳು ಬೇಕು.  6 ಹೆಂಗಸರು ಮತುತ್ 15 ಮಕಕ್ಳು ಸೇರಿ 

ಅದೇ ಕೆಲಸ ಮುಗಿಸಲು ಎಷುಟ್ ದಿನಗಳು ಬೇಕು. 
Solution: 

t=
1510
15*10

+
= 

25
150 = 6 days 

 
Problem 10: A and B Together can do a work in 4 Days. A alone can do that work in 12 days. In how many 
days can B alone do that work? 
 
A ಮತುತ್ B ಜೊತೆಯಾಗಿ ಒಂದು ಕೆಲಸವನುನ್ 4 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ರು.  A ಒಬಬ್ನೇ  ಆ ಕೆಲಸವನುನ್  12 ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ನು. ಹಾಗಿದದ್ರೆ  B ಒಬಬ್ನೇ ಅದೇ 

ಕೆಲಸವನುನ್ ಎಷುಟ್ ದಿನಗಳĹಲ್ ಮುಗಿಸಬಲಲ್ನು? 

Solution: 
Let ‘t’ be the time taken by B alone to do that work.  
‘t’  ಎನುನ್ವುದು  ಒಬಬ್ನೇ ಕೆಲಸಮಾಡಲು ತೆಗೆದುಕೊಳುಳ್ವ ದಿನಗಳಾಗಿರĹ. 

4=
t+12

12t  

48+4t= 12t 
48= 8t 
t=6 
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Filling of water/liquid and emptying / ಕೊಳವೆ ಮೂಲಕ ದರ್ವವನುನ್ ತುಂಬಿಸುವುದು/ಖಾĹ ಮಾಡುವುದು 

A pipe can fill a tank in x hours. ; Then part filled by it in 1 hour = 
x
1  

If another pipe takes y hours to fill the tank then part filled by both of them in 1 hour= (
x
1 ±

y
1 )=

xy
xy ±

 

( - y to be used when the pipe empties the tank in y hours); ∴ Time taken to fill the tank = 
xy ±

xy  

Note, we use the same formula when more than 1 person is involved in a work. 
 

ಒಂದು ಕೊಳವೆಯು  ಟಾಯ್ಂಕ್ ಒಂದನುನ್  ತುಂಬಿಸಲು ತೆಗೆದು ಕೊಳುಳ್ವ ಸಮಯ x ಆಗಿರĹ, ಇನೊನ್ಂದು ಕೊಳವೆಯು  ಅದನುನ್ ತುಂಬಿಸಲು ತೆಗೆದುಕೊಳುಳ್ವ ಸಮಯ y 

ಆಗಿರĹ. ಆಗ, ಟಾಯ್ಂಕ್ ನುನ್ ಎರಡೂ ಸೇರಿ ತುಂಬಿಸಲು  ತೆಗೆದುಕೊಳುಳ್ವ ಸಮಯ= 
xy ±

xy (ಕೊಳವೆ ಖಾĹ ಮಾಡುವಂತಿದದ್ರೆ – y ಎಂದು ನಮೂದಿľ). 

Problem 1: 2 Pipes can fill a tank in 36 and 45 hours. If they are operated simultaneously, how much time will 
it take to fill the tank?  
 
2 ಪೈಪ್ ಗಳು ಒಂದು ಟಾಯ್ಂಕ್ ನುನ್ 36 ಮತುತ್ 45 ಗಂಟೆಗಳĹಲ್ ತುಂಬಿಸಬಲಲ್ವು. ಎರಡೂ ಪೈಪ್ ಗಳನುನ್ ಒಟಿಟ್ಗೆ ಬಿಟಟ್ರೆ ಟಾಯ್ಂಕ್ ತುಂಬಲು ಎಷುಟ್ ಗಂಟೆ ಬೇಕು? 

Solution: 

Time taken to fill the tank = 
xy ±

xy = 
81

36*45 = 5*4= 20 hours 

 
Problem 2: 2 pipes fill a water tank in 10 and 12 hours respectively and a third pipe empties the tank in 20 
hours. If all the 3 pipes operate simultaneously, how much time will it take to fill the tank? 
2 ಪೈಪ್ ಗಳು ಒಂದು ಟಾಯ್ಂಕ್ ನುನ್ ತುಂಬಲು  10 ಮತುತ್ 12 ಗಂಟೆಗಳನುನ್ ತೆಗೆದುಕೊಳುಳ್ತತ್ದೆ.  3 ನೇ ಪೈಪ್  ಟಾಯ್ಂಕ್ ನುನ್ ಖಾĹ ಮಾಡಲು 20 ಗಂಟೆಗಳನುನ್ 

ತೆಗೆದುಕೊಂಡರೆ, ಮೂರೂ ಪೈಪ್ ಗಳನುನ್ ಒಟಿಟ್ಗೆ ಬಿಟಟ್ರೆ  ಟಾಯ್ಂಕ್ ತುಂಬಲು ಎಷುಟ್ ಸಮಯ ಬೇಕು? 

 
Solution: 

Part filled in 1 hour = (
10
1 +

12
1 -

20
1 )=

60
3)-5(6 + =

60
8 =

15
2 ; 1  ಗಂಟೆಯĹಲ್  ಟಾಯ್ಂಕ್ ನ ತುಂಬುವ ಭಾಗ = (

10
1 +

12
1 -

20
1 )=

15
2
ರಷುಟ್ 

Time taken to fill the tank= 
2

15  hours= 7 hours 30 minutes  
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Speed / ವೇಗ 

 

Speed
overedDistance_C  = time= ಕರ್ಮಿľದ ದೂರ ÷ವೇಗ = ಸಮಯ 

 
Problem 1: A person travels a distance at the rate of 10 km/h while going and returns to the original point by 
travelling at the rate of 15 km/h. what is the average speed? 
 

ಓವರ್ನು   ಒಂದು ಸಥ್ಳವನುನ್ ತಲುಪಲು  10 ಕಿ,ಮೀ./ಗಂ  ವೇಗದಲೂಲ್ ,ಅದೇ ಸಥ್ಳಕೆಕ್ Ŀಂತಿರುಗಲು 15 ಕಿ.ಮಿ./ಗಂ ವೇಗದಲೂಲ್  ಕರ್ಮಿľದರೆ ಸರಾಸರಿ ವೇಗ ಎಷುಟ್? 

Solution: 

Common mistake done here is calculating it to be 
2

15)(10 +  = 12.5 km/h (Wrong answer) 

We forget to notice that distance travelled is twice the one way distance. 

Speed
ceDis tan  = time  

Let t1 and t2 be the time taken to cover same distance‘d’ 

Then t1=
10
d  and t2 = 

15
d ;   

∴Total time taken = (t1+t2) = (
10
d +

15
d ) =

30
2d3d +  = 

6
1 d 

Average speed = total distance covered/total time taken = 2d ÷  
6
1 d = 12 kmh 

Formula: If distance travelled is same then the formula for average speed =2*
)21(

Speed2*Speed1
SpeedSpeed +

 

= 2*
25

15*10  = 12 kmh 

ಸೂತರ್: ಬೇರೆ ಬೇರೆ ವೇಗದĹಲ್ ಕರ್ಮಿľದ ದೂರ ಒಂದೇ ಇದದ್ರೆ ಆಗ ಸರಾಸರಿ ವೇಗ=2*
)21(

Speed2*Speed1
SpeedSpeed +

 

ಮೇĹನ ಲೆಕಕ್ದĹಲ್ ಸರಾಸರಿ ವೇಗ= 2*
25

15*10  = 12 ಕಿ.ಮೀ./ಗಂ 
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Problem 2: A goes to school at a speed of 3 kmh and returns to the village at 7 kmh. If he takes 3 hours in all 
what is the distance from school to village? 
 
A ಯು ಶಾಲೆಗೆ  3  ಕಿ.ಮೀ/ಗಂ ವೇಗದĹಲ್ ಹೋಗಿ,ವಾಪಾಸು  ಹĺಳ್ಗೆ 7 ಕಿ.ಮೀ./ಗಂ ವೇಗದĹಲ್ Ŀಂತಿರುಗಲು ಒಟುಟ್ 3  ಗಂಟೆ ಸಮಯ ತೆಗೆದುಕೊಂಡರೆ ಶಾಲೆ ಎಷುಟ್ 

ದೂರದĹಲ್ ಇದೆ? 

Average speed (ಸರಾಸರಿ ವೇಗ)= 2*
)73(

7*3
+

 =
10
42  =4.2 kmh 

 
Time = 3 hrs ∴ distance= 4.2*3= 12.6 km 
Problem 3: If A and B are 20 km apart. A can walk at the average speed of 4 kmh. B at an average speed of 6 
kmh. If they start at 8 am, in opposite directions when will they meet? 
 
A ಮತುತ್  B  ಯ ನಡುĻನ ಅಂತರ 20 ಕಿ.ಮೀ. A ಯು  4 ಸರಾಸರಿ ಕಿ.ಮೀ/ಗಂ ವೇಗದĹಲ್ ಮತುತ್  B ಯು   ಸರಾಸರಿ 6 ಕಿ.ಮೀ/ಗಂ ವೇಗದĹಲ್   ನಡೆಯಬಲಲ್ರು.  

ಬೆĺಗೆಗ್ 8 ಗಂಟೆಗೆ Ļರುದಧ್ ದಿಕಿಕ್ನĹಲ್ ಅವರು ನಡೆದರೆ ಎಷುಟ್ ಗಂಟೆಗೆ ಅವರು ಮುಖಾಮುಖಿಯಾಗುತಾತ್ರೆ? 

Solution: 
A------------><-----------------B 
 <---- 4t----><------6t------- >  
Let them walk ‘t’ hours. 
Distance travelled by A in ‘t’ hours = t*4  
Distance travelled by B in ‘t’ hours =t*6 
Total distance = Distance travelled by A+ Distance travelled by B 
20 = 4t+6t= 10t  
∴t=2, so they meet at 10 AM 
 
 
 ಬೆĺಗೆಗ್ 8 ಗಂಟೆಯ ನಂತರ ಅವರುಗಳು Ļರುದಧ್ ದಿಕಿಕ್ನĹಲ್ ‘t’ ಗಂಟೆಯಷುಟ್ ನಡೆಯĹ.  

A ಯು ‘t’ ಗಂಟೆಯĹಲ್ ಕರ್ಮಿľದ ದೂರ= t*4=4t 

B ಯು ‘t’ ಗಂಟೆಯĹಲ್ ಕರ್ಮಿľದ ದೂರ =t*6=6t 

ಒಟುಟ್ ನಡೆದ ದೂರ=20= (A ಯು ‘t’ ಗಂಟೆಯĹಲ್ ಕರ್ಮಿľದ ದೂರ) + (B ಯು ‘t’ ಗಂಟೆಯĹಲ್ ಕರ್ಮಿľದ ದೂರ) = 4t+6t= 10t 
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∴t=2, ಅವರು 10 AM ಗಂಟೆಗೆ ಮುಖಾಮುಖಿಯಾಗುತಾತ್ರೆ. 

 

 
Problem 4: in one hour boat goes 11 km along the stream and 5 km against the stream. What is the speed of 
boat in still water? 
ಒಂದು ದೋಣಿಯು ನೀರಿನ ಪರ್ವಾಹದ ದಿಕಿಕ್ನĹಲ್  11  ಕಿ.ಮೀ. ಮತುತ್ Ļರುದಧ್ ದಿಕಿಕ್ನĹಲ್ 5 ಕಿ.ಮೀ. ಚĹľದರೆ. ನಿಶಚ್ಲ ನೀರಿನĹಲ್ ಅದರ ವೇಗ ಎಷುಟ್?  

Solution: 
Note: While going along the stream. Speed of stream helps the boat to go fast. While against the stream, the 
speed of stream  slows down the boat 
We will use more of logic here. 
Boat speed+ Stream speed = 11 
Boat speed- Stream speed = 5 
2* (Boat speed) = 16 
∴ Boat speed = 8 kmph   
∴ Stream speed = 3 kmph 
 
 
 ದೋಣಿಯ ವೇಗದ ಜೊತೆಗೆ, ಪರ್ವಾಹದ ವೇಗವನೂನ್ ನಾವು ಲೆಕಕ್ಕೆಕ್ ತೆಗೆದುಕೊಳಳ್ಬೇಕು 

 ದೋಣಿಯ ವೇಗ+ ಪರ್ವಾಹದ ವೇಗ= 11   --------(1) 

ದೋಣಿಯ ವೇಗ- ಪರ್ವಾಹದ ವೇಗ= 5       --------(2) 

ಮೇĹನ ಎರಡೂ ಸಮೀಕರಣಗಳನುನ್  ಬಿಡಿľದಾಗ 

ದೋಣಿಯ ವೇಗ = 8 ಕಿ.ಮೀ./ಗಂ. 

ಪರ್ವಾಹದ ವೇಗ = 3 ಕಿ.ಮೀ./ಗಂ. 
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Problem 5: A truck covers a distance in 12 hrs at the speed of 70 kmph. What is the speed of car which travels 
a distance 120 km more in same time? 
 

ಒಂದು ಲಾರಿಯು  70ಕಿ.ಮೀ./ಗಂ ವೇಗದĹಲ್  12 ಗಂಟೆ  ಕರ್ಮಿಸುತತ್ದೆ. ಅದೇ ಅವಧಿಯĹಲ್ ಒಂದು ಕಾರು 120 ಕಿ.ಮೀ. ಜಾľತ್ ದೂರ ಕರ್ಮಿľದರೆ ಆ ಕಾರಿನ ವೇಗ 

ಎಷುಟ್? 

Solution: 
Distance covered by truck = time*speed= 12*70 = 840 KM === ಲಾರಿ ಕರ್ಮಿľದ ದೂರ 

Distance covered by car = 840 KM+ 120 KM = 960 KM        === ಕಾರು ಕರ್ಮಿľದ ದೂರ 

Speed of car =
Time

Distance  = 
12
960 = 80 kmph ====  ಕಾರಿನ ವೇಗ. 

 
Speed of train ( ಟೆČನ್ ನ ವೇಗ) 

 

Speed = (
crosstotakenTime ___

rmthe_platfoLength_of_the_trainLength_of_ + ) =(ಟೆČನ್ ನ ಉದದ್+ ರೈಲೆವ್ೕ ಪಾಲ್ಟ್ ಫಾಮ್ರ್ ನ ಉದದ್)÷ದಾಟಲು ತೆಗೆದುಕೊಳುಳ್ವ ಸಮಯ 

Problem 6: A 235m long train crosses a 65m platform in 20s. What is the speed in kmh? 
 
 235 ಮೀಟರ್ ಉದದ್ದ ಒಂದು ಟೆČನ್ 65 ಮೀ.ಪಾಲ್ಟ್ ಫಾಮ್ರ್ ನುನ್  20ಸೆ. ನĹಲ್ ಹಾದುಹೋದರೆ, ಟೆČನ್ ವೇಗ ಗಂಟೆಗಳĹಲ್ ಎಷುಟ್? 

 

Solution: 

Train speed = 
20

65235+  meter per sec= 15 meter per sec= 15*60*60 meter per hour= 54000 meter per hour 

= 54 kmph 
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Permutation/Arrangements/ ಕರ್ಮŴೕಜನೆಗಳು/ಕರ್ಮಬದಧ್ ಜೋಡಣೆ 

 
Notations: 
n!= 1*2*3*4*5… n  (!- is called factorial) 
3!= 3*2*1=6 
4!= 4*3*2*1= 4*3!=24 
n!= n*(n-1)! 
1!= 1 
0!=1 (By definition) 

!4
6!= 

!4
4!*5*6 = 6*5=30 

 
Let A and B be students in a class. How many ways can we ask them to stand in a line? 
(AB), (BA). We have totally 2 ways of doing it. 
Let A , B and C be students in a class. How many ways can we ask them to stand in a line? 
(ABC, ACB), (BAC, BCA), (CAB, CBA).We have 6 different ways which is = 3! 
The number of arrangements that can be done with ‘n’ objects taken all of them at the same time is n! 
A ಮತುತ್ B  ಒಂದು ತರಗತಿಯ ಹುಡುಗರಾಗಿರĹ,ಅವರನುನ್ ಒಂದು ಸಾĹನĹಲ್ ನಿಲಲ್ಲು ಯಾವ ರೀತಿ ಹೇಳಬಹುದು? (AB), (BA) – ಎರಡು ĻಧದĹಲ್ 

A , B ಮತುತ್ C  ಒಂದು ತರಗತಿಯ ಹುಡುಗರಾಗಿರĹ,ಅವರನುನ್ ಒಂದು ಸಾĹನĹಲ್ ನಿಲಲ್ಲು ಯಾವ ರೀತಿ ಹೇಳಬಹುದು?  

(ABC, ACB), (BAC, BCA), (CAB, CBA).– 6 ĻಧಗಳĹಲ್, ಅದೇ 3! 
 
Problem 1: In how many different ways can the letters of word ‘LIKE’ be arranged? 
ಎಷುಟ್ ĻĻಧ ರೀತಿಗಳĹಲ್ ‘LIKE’ ಪದವನುನ್ Ļಭಿನನ್ ರೀತಿಯĹಲ್ 4 ಅಕಷ್ರದ ಪದಗಳಾಗಿ ಜೋಡಿಸಬಹುದು? 

Solution: 
= 4!= 4*3*2*1= 24 ways 
 

Problem 2: In how many different ways can the letters of word ‘BABY’ be arranged? 
ಎಷುಟ್ ĻĻಧ ರೀತಿಗಳĹಲ್ ‘BABY’ ಪದವನುನ್ Ļಭಿನನ್ ರೀತಿಯĹಲ್ 4 ಅಕಷ್ರದ ಪದಗಳಾಗಿ ಜೋಡಿಸಬಹುದು? 

If your answer is 24 then it is wrong. Right answer is 12 
ನಿಮಮ್ ಉತತ್ರ =4! ಎಂದಾದರೆ ಅದು ತಪುಪ್. ಸರಿಯಾದ ಉತತ್ರ =12. ಮುಂದೆ Ļವರಣೆ ನೀಡಲಾಗಿದೆ. 
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Formula: If among n objects, a1 , a2, .. ak   number of objects are alike, then number of arrangements that can 

be made = 
!!..!*!*!*

n!

4321 kaaaaa
 

Solution: 

Since letter B repeats 2 times, from the word ‘BABY’ we can make 
!2

4! =12 different 4 lettered words  

ಸೂತರ್:  

n ಸಂಖೆಯ್ಯ ವಸುತ್ಗಳĹಲ್ a1 , a2, .. ak  ವಸುತ್ಗಳು ಒಂದೇ ತೆರನಾಗಿದದ್Ĺಲ್, ಆಗ ಪಡೆಯಬಹುದಾದ ĻĻಧ ಕರ್ಮŴೕಜನೆಗಳು = 
!!..!*!*!*

n!

4321 kaaaaa
 

ಆದುದರಿಂದ  ‘BABY’ ಪದದĹಲ್ ‘B’ ಎರಡು ಬಾರಿ ಇರುವುದರಿಂದ 
!2

4! =12 Ļಭಿನನ್ ಜೋಡಣೆಗಳು ಸಾಧಯ್ 

 
Problem 3: In how many different ways letters in the word ‘LETTER’   can be formed? 
ಎಷುಟ್ ĻĻಧ ರೀತಿಗಳĹಲ್ ‘LETTER’ಪದವನುನ್ Ļಭಿನನ್ ರೀತಿಯĹಲ್  6 ಅಕಷ್ರದ ಪದಗಳಾಗಿ ಜೋಡಿಸಬಹುದು? 

 

Solution:Total no of letters = 6, E repeats twice and ‘T’ Repeats twice 

Number of ways = 
!2*2

6!  =
4

2*3*4*5*6  = 180 ways 

Problem 4: In how many ways can 6 students be seated on 6 seats?  
6 ಕುಚಿರ್ಗಳĹಲ್   6 Ļದಾಯ್ಥಿರ್ಗಳನುನ್ ಎಷುಟ್  Ļಭಿನನ್ ರೀತಿಯĹಲ್ ಕೂಡಿಸಬಹುದು?  

 

Solution: It is 6!= 6*5*4*3*2= 720 
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In the above examples we considered cases where we chose to arrange all ‘n’ objects out of total of ‘n’ objects. 
If we decide to choose ’r’(r<n) number of objects then the formula changes 

No of ways of arranging ‘n’ objects by taking ‘r’ objects at a time= nPr =
)!(

n!
rn −

  

 

ಮೇĹನ ಸಮಸೆಯ್ಗಳĹಲ್  ಕರ್ಮŴೕಜನೆಗಳĹಲ್  ‘n’ ನ ಎಲಾಲ್  ವಸುತ್ಗಳನುನ್ ತೆಗೆದುಕೊಂಡು ಜೋಡಿľದೆದ್ವು. ಎಲಾಲ್  ‘n’ ನ ಬದಲು ಒಮೆಮ್ಗೆ ಅದಕಿಕ್ಂತ ಕಡಿಮೆ ಸಂಖೆಯ್ಯ    

’r’(r<n) ವಸುತ್ಗಳನುನ್ ತೆಗೆದುಕೊಂಡರೆ  ಸೂತರ್ ಬದಲಾಗುತತ್ದೆ. 

 ‘n’  ವಸುತ್ಗĺಂದ ‘r’  ವಸುತ್ಗಳನುನ್ ಮಾತರ್ ತೆಗೆದುಕೊಂಡು ಜೋಡಿಸುವ ಕರ್ಮĻಧಾನಗಳು= nPr =
)!(

n!
rn −

 

 

Problem 5: How many 3 digit numbers can be formed using 0,1,2,3? 
0,1,2,3 ಅಂಕೆಗಳನುನ್ ಉಪŴೕಗಿľಕೊಂಡು ಎಷುಟ್  3 ಅಂಕೆಗಳ ಸಂಖೆಯ್ಯನುನ್ ಮಾಡಬಹುದು? 

 
Solution:  

Number of 3 digit numbers that can be formed from given 4 digits= 4P3=
!1

4! =4*3*2*=24 (Q‘n’=4; ‘r’=3) 

Note this number includes 3 digit numbers such as 023,032,012… which we should not consider. 
With ‘0’ as the first digit and by using remaining digits (1, 2, 3), number of 2-digit numbers we can make 

=3P2 = 3!= 
!1

3!=3*2=6. (Q ‘n’=3; ‘r’=2) 

Thus the correct and meaningful answer =24-6=18. 

ಇĹಲ್  ‘n’=4; ‘r’=3 ಆಗಿರುವುದರಿಂದ  4 ಅಂಕೆಗĺಂದ  ಮಾಡಬಹುದಾದ 3 ಅಂಕೆಗĺರುವ ಸಂಖೆಯ್ಗಳು= 4P3=
!1

4! =4*3*2*=24  

ಆದರೆ ಈ ಸಂಖೆಯ್ಗಳĹಲ್ 0 ಯಿಂದ ಆರಂಭವಾಗುವ 023,032,012…  ಸಂಖೆಯ್ಗಳೂ ಸೇರಿರುತತ್ವೆ. ಅವುಗಳನುನ್ ಪರಿಗಣಿಸಬಾರದು. 

0 ಯಿಂದ ಆರಂಭವಾಗಿ ಉĺದ 3 ಅಂಕೆಗĺಂದ (1,2,3) ಆಯುದ್ಕೊಳಳ್ಬಹುದಾದ 2 ಅಂಕೆಗಳ ಸಂಖೆಯ್ಗಳು=3P2 = 3!= 
!1

3!=3*2=6. (Q ‘n’=3; ‘r’=2) 

∴ಸರಿಯಾದ ಹಾಗೂ ಅಥರ್ಪೂಣರ್ ಉತತ್ರ=24-6=18. 
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Combination/Ļಕಲಪ್ಗಳು 

 
Question 1: A, B and C are students in a class. How many ways can we take photos with 2 of them in a frame? 
Answer: Though there are 3P2=3*2=6 arrangements possible, we only have 3 unique combinations (QAB=BA, 
BC=CB, CA=AC).This is denoted by 3C2 

 ಪರ್ಶೆನ್: A, B ಮತುತ್ C ಎನುನ್ವವರು ಮೂವರು ಹುಡುಗರು.ಅವರĹಲ್ ಇಬಬ್ರು ಒಂದೇ ಫೆರ್ೕಮ್ ನĹಲ್ ಇರುವಂತೆ ಎಷುಟ್ Ļಧವಾಗಿ įಟೋ ತೆಗೆಯಬಹುದು? 

ಉತತ್ರ: 3P2=3*2=6 ಕರ್ಮŴೕಜನೆಗಳು ಇದದ್ರೂ  ಅದಿವ್ತೀಯ Ļಧವಾಗಿ 3 įೕಟೋ ಮಾತರ್ ತೆಗೆಯಬಹುದು (QAB=BA, BC=CB, CA=AC). ಇದನೆನ್ೕ 

ನಾವು 3C2  ರೀತಿಯಾಗಿ ಸೂಚಿಸುತೆತ್ೕವೆ. 

 
Question 2: A, B and C are students in a class. How many ways can we take photos with 3 of them in a frame? 
Answer: Though there are 3P3=3*2=6 arrangements possible, we have only 1 unique combination 
(QABC=ACB=CAB=CBA=BAC=BCA). This is denoted by 3C3 

ಪರ್ಶೆನ್: A, B ಮತುತ್ C ಎನುನ್ವವರು ಮೂವರು ಹುಡುಗರು.ಅವರĹಲ್ ಮೂವರೂ ಒಂದೇ ಫೆರ್ೕಮ್ ನĹಲ್ ಇರುವಂತೆ ಎಷುಟ್ Ļಧವಾಗಿ įಟೋ ತೆಗೆಯಬಹುದು? 

ಉತತ್ರ: 3P2=3*2=6 ಕರ್ಮŴೕಜನೆಗಳು ಇದದ್ರೂ  ಅದಿವ್ತೀಯ Ļಧವಾಗಿ 1 įೕಟೋ ಮಾತರ್ ತೆಗೆಯಬಹುದು 

(QABC=ACB=CAB=CBA=BAC=BCA). ಇದನೆನ್ೕ ನಾವು 3C3  ರೀತಿಯಾಗಿ ಸೂಚಿಸುತೆತ್ೕವೆ. 

 
The number of combinations of ’n’ things taken ‘r’ objects at a time is denoted by nCr  
’n’ ವಸುತ್ಗĺಂದ  ‘r’ ವಸುತ್ಗಳನುನ್ ಆಯೆಕ್ ಮಾಡಿಕೊಳುಳ್ವುದನುನ್  nCr ರೀತಿಯಾಗಿ ಸೂಚಿಸುತೆತ್ೕವೆ. 

 
The relationship between permutation and combination is  

(Permutations of ‘n’ things taken ‘r’ at a time)=  

(Selection (Combination) of ‘n’ things taken ‘r’ at a time)*(Arrangement of ‘r’ things) 

‘n’  ವಸುತ್ಗĺಂದ ‘r’  ವಸುತ್ಗಳನುನ್ ತೆಗೆದುಕೊಂಡು ಜೋಡಿಸುವ ಕರ್ಮĻಧಾನಗಳು= ’n’ ವಸುತ್ಗĺಂದ  ‘r’ ವಸುತ್ಗಳ ಆಯೆಕ್*r! 

nPr = nCr* rPr= nCr* r!                                    nCr= 
!)!*(

n!
rrn −
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Problem 1:   A box has 4 red & 3 black marbles. Find in how many ways 2 red marbles and 4 red marbles can 
be drawn? 
ಡಬಬ್ŬಂದರĹಲ್ 4 ಕೆಂಪು ಮತುತ್ 3 ಕಪುಪ್ ಗೋĹಗĺವೆ. ಎಷುಟ್ ರೀತಿಯĹಲ್  2 ಕೆಂಪು ಮತುತ್  4 ಕೆಂಪು  ಗೋĹಗಳನುನ್ ಆರಿಸಬಹುದು? 

Solution: 

2 marbles out of 4 red marbles can be drawn in 4C2 ways= 
!2)!*24(

4!
−

=6 

4 ಕೆಂಪು ಗೋĹಗಳĹಲ್ 2 ಗೋĹಗಳ ಆಯೆಕ್=4C2=6 

4 marbles out of 4 red marbles can be drawn in 4C4 ways=
!4)!*44(

4!
−

= 1(Q0!=1). 

4 ಕೆಂಪು ಗೋĹಗಳĹಲ್ 2 ಗೋĹಗಳ ಆಯೆಕ್=4C4= 1; 
 
Problem 2:   4 friends shake hands mutually. Find the number of handshakes. 
4 ಸೆನ್ೕĿತರು ಪರಸಪ್ರ ಕೈ ಕುಲುಕಿಕೊಂಡರೆ ಎಷುಟ್ ಕೈಕುಲುಕುಗಳಾಗುತತ್ವೆ? 
Solution: 
Here n=4; For a handshake we require 2 hands. Hence r=2 
∴ Number of handshakes= 4C2= 6 
Problem 3: There are 20 non collinear points on a plane. How many (a) straight lines (b) triangles can be 
formed by joining these points?  
ಒಂದು ಸಮತಲದĹಲ್  ರೇಖಾಗತವಲಲ್ದ 20 ಬಿಂದುಗĺವೆ. ಈ ಬಿಂದುಗಳನುನ್ ಸೇರಿľ ಎಷುಟ್ ರೇಖೆಗಳನುನ್ ಹಾಗೂ ಎಷುಟ್ ತಿರ್ಕೋನಗಳನುನ್ ರಚಿಸಬಹುದು? 

Solution: 
  
The number of non collinear points (n=20) ======   ಯಾವುದೇ ಸರಳ ರೇಖೆಯ ಮೇಲೆ ಇರದ 20 ಬಿಂದುಗಳು 

Since straight line has 2 end points (r=2)   ======   ಸರಳ ರೇಖೆ ರಚಿಸಲು 2 ಬಿಂದುಗಳು ಬೇಕು.  

Total number of straight lines that can be formed are 

= 20C2= 
!2)!*220(

20!
−

= 
!2!*18
18!*19*20 = 190 

  
Since triangles are formed with  3 points(r=3)======   ತಿರ್ಕೋನ ರಚಿಸಲು 3 ಬಿಂದುಗಳು ಬೇಕು. 

Total number of triangles that can be formed are= 20C3= 
!3)!*320(

20!
−

= 
!3!*17

17!*18*19*20 = 
6

18*19*20 = 1140
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Simultaneous Equations in 2 variables / 2 ಚರಾಕಷ್ರಗಳ ಏಕಕಾĹಕ ಸಮೀಕರಣಗಳು 

 
x+y = 8 : 2 variables – x and y 
What are the possible values for x and y? : Infinite values ! 
 
2 equations are required 
 
Example : 
 2x+4y= 10     ---(1) 
 x  -  y = 2       ---(2) 
 

Method 1/ಕರ್ಮ 1 Method 2/ಕರ್ಮ 2 Method 3/ಕರ್ಮ 3 

Add (1) and (2)  
3x+3y = 12  --- (3) 
Divide(3) by 3 
x+y= 4     ----- (4) 
 
Add (2) and  (4) 
2x= 6∴ x=3 

Multiply (2) by 4 
 
4x-4y= 8 ---- (5) 
 
 
Add (1) and (5) 
6x=18 ∴  x=3 

Multiply (2) by 2 
 
2x-2y= 4 --- (6) 
 
 
Subtract (6) from (1) 
6y=6 ∴ y=1 

Substitute value of x in (2).  
Then 3-y= 2    ∴ y=1 

Substitute value of y in (2).
Then  x-1= 2   ∴ x=3 
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Problem 1: The total cost of 12 apples and 8 bananas is Rs.76. Total cost of 8 apples and 12 bananas Rs.64 
What is the cost of an apple and one Banana? 
 

12 ಸೇಬು ಮತುತ್ 8  ಬಾಳೆಹಣುಣ್ಗಳ ಬೆಲೆ ರೂ. 76. 8 ಸೇಬು ಮತುತ್ 12  ಬಾಳೆಹಣುಣ್ಗಳ ಬೆಲೆ ರೂ. 64.   ಒಂದು ಸೇಬು ಮತುತ್ ಒಂದು ಬಾಳೇ ಹಣಿಣ್ನ ಬೆಲೆ ಎಷುಟ್? 

Solution: 
 

Let ‘x’ be the cost of an apple, ‘y’ be the cost of 1 Banana 
ಒಂದು ಸೇಬಿನ ಬೆಲೆ ಮತುತ್ ಒಂದು ಬಾಳ ೕೆ ಹಣಿಣ್ನ ಬೆಲೆ ಕರ್ಮವಾಗಿ ‘x’ ಮತುತ್ ‘y’ ಆಗಿರĹ 

 

ಸಂ. Step/ಹಂತ Equation/ಸಮೀಕರಣ 

1 Total cost of 12 apples and 8 bananas   
12 ಸೇಬು ಮತುತ್ 8  ಬಾಳೆಹಣುಣ್ಗಳ ಬೆಲೆ 

12x+8y=76           ----- (1) 

2 Total cost of 8 apples and 12 bananas 
8 ಸೇಬು ಮತುತ್ 12  ಬಾಳೆಹಣುಣ್ಗಳ ಬೆಲೆ 

8x+12y=64           ----- (2) 

3 Multiply (1) by 2 and (2) by 3(Why??)     24x+16y=152       ----- (3) 
24x+36y=192       ----- (4) 

4 Subtract (3) from (4) 20y=40 and hence y=2 
5 Substitute y in (1) 12x=76-16= 10 ; x=5  

 

The cost of an apple and one banana is 7 
ಒಂದು ಸೇಬು ಮತುತ್ ಒಂದು ಬಾಳ ೕೆ ಹಣಿಣ್ನ ಬೆಲೆ=7 
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Problem 2: The number obtained by interchanging the digits of 2 digit number is less than the original number 
by 18. If sum of the digits is 8, what is the original number? 
 

ಎರಡಂಕೆಯ ಸಂಖೆಯ್ಯ ಅಂಕೆಗಳನುನ್ ಅದಲುಬದಲು ಮಾಡಿದರೆ ಅದು ಮೂಲ ಸಂಖೆಯ್ಗಿಂತ 18 ಕಡಿಮೆ. ಅಂಕೆಗಳ ūತತ್ 8 ಆದರೆ, ಮೂಲ ಸಂಖೆಯ್ ಯಾವುದು? 

 

Solution: 
Let ‘x’ be the first digit and ‘y’ be the 2nd digit of 2 digit number. Then the number is xy and its value=10x+y. 
‘x’ ಮತುತ್  ‘y’ ಗಳು ಸಂಖೆಯ್ಯ ūದಲ ಮತುತ್ ಎರಡನೇ ಅಂಕೆಯಾಗಿರĹ. ಆಗ ಸಂಖೆಯ್ xy ಮತುತ್ ಅದರ ಬೆಲೆ =10x+y 

 

ಸಂ. Action  Equation 

1 Sum of the digits  
ಅಂಕೆಗಳ ūತತ್    

x+y=8                     ----- (1) 

2 When we interchange the 2 digit number will be yx  
and its value is 10y+x and is 18 less than old value 
ಸಂಖೆಯ್ಯ ಅಂಕೆಗಳನುನ್ ಅದಲು ಬದಲು ಮಾಡಿದಾಗ ಹೊಸ ಸಂಖೆಯ್ yx ಮತುತ್ 

ಅದರ ಬೆಲೆ 10y+x ಮತುತ್ ಅದು  ಮೂಲ ಸಂಖೆಯ್ಗಿಂತ 18 ಕಡಿಮೆ 

10x+y- 18= 10y+x   ----- (2) 

3 Simplifying (2) -(Transposition)                                 9x-9y = 18                -----(3) 
4 Divide (3) by 9  x-y= 2                      -----(4) 
5 Add (1) and (4) 2x= 10 ; x=5 and hence y=3 

 
The original number is 53. ಮೂಲ ಸಂಖೆಯ್ 53. 
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Problem 3: If the fraction obtained by increasing numerator by 200% and denominator by 120% is 
11
7 , what is 

the fraction? 

ಒಂದು ಭಿನನ್ರಾļಯ ಅಂಶವನುನ್ 200%  ಮತುತ್ ಛೇದವನುನ್  120% ಹೆಚಿಚ್ľದಾಗ ಅದು  
11
7

 ಆದರೆ ಆ ಭಿನನ್ರಾļ ಯಾವುದು? 

Solution: 
 

Let 
y
x be the fraction, then  ಆ ಭಿನನ್ರಾļ  

y
x

 ಆದರೆ  

y120
200x =

11
7  

y5
4x =

11
7  

44x=35y    what is x and y?  
 
There is no unique solution to this problem.  

ಈ  ಸಮಸೆಯ್ಗೆ  ಏಕಮಾತರ್ ಪರಿಹಾರ ಸಾಧಯ್Ļಲಲ್. 
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Quadratic equation and Formulae / ವಗರ್ಸಮೀಕರಣ ಮತುತ್ ಸೂತರ್ಗಳು 

 
ax2+bx+c=0 

No Formula/Identity Expansion 
1 (a+b)(c+d) ac+ad+bc+bd 
2 (x+a)*(x+b)  x2+x(a+b)+ab 
3 (a+b)2 a2+b2+2ab 
4 (a-b)2 a2+b2-2ab 
5 (a+b)(a-b) a2-b2 
6 (a+b+c)2 a2+b2+ 

c2+2ab+2bc+2ca 
7 (a+b)3 a3+b3+3ab(a+b) 
8 (a-b)3 a3-b3-3ab(a-b) 

 
Application: 

No To Find Short Cut Expansion 
1 522= ? (50+2)2 502+2*50*2+22= 2500+200+4=2704 
2 492=? (50-1)2 502- 2*50*1+(-1)2= 2500-100+1=2399 
3 48*52 = ? (50-2)(50+2) 502-22= 2500-4= 2496 
6 94-92=? 92(92-1) 81*80=6480 

 
Problem 1: If the value of x+y=8 and xy=2, what is the value of x2+y2=? 
x+y=8 ಮತುತ್  xy=2  ಆದರೆ x2+y2=? 

Solution: 
(x+y)2=  x2+y2+2xy 
∴ x2+y2=(x+y)2-2xy= 82-4=60   

Formula: Roots of the equation of the form ax2+bx+c=0, are: x=
a

acbb
2

42 −±−
 

ax2+bx+c=0 ನ 2 ಮೂಲಗಳು x=
a

acbb
2

42 −±−
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Problem 2: In a class of 63, children are seated in rows and columns such that there are 2 more children in 
each column than the number of children in each row. How many children are there in each row? 
ಒಂದು ತರಗತಿಯ 63 ಮಕಕ್ಳು ಅಡಡ್ಸಾಲು ಮತುತ್ ಕಂಬಸಾಲುಗಳĹಲ್ ಕುĺತಿದಾದ್ರೆ.ಪರ್ತೀ ಕಂಬಸಾĹನĹಲ್ ಕುĺತಮಕಕ್ಳ ಸಂಖೆಯ್ ಅಡಡ್ಸಾĹನĹಲ್ ಕುĺತ ಮಕಕ್ಳ 

ಸಂಖೆಯ್ಗಿಂತ  ಜಾľತ್ ಆಗಿದದ್ರೆ ಪರ್ತೀ ಅಡಡ್ಸಾĹನĹಲ್ ಕುĺತ ಮಕಕ್ಳ ಸಂಖೆಯ್ ಎಷುಟ್? 

 
Solution: 
Let ‘x’ be the number of children in a row. Since children in each column is 2 more than each row, it will be x+2 
(Like in 3 rows and 5 columns like below) 
ಪರ್ತೀ ಅಡಡ್ಸಾĹನĹಲ್ ಇರುವ ಮಕಕ್ಳ ಸಂಖೆಯ್ ‘x’  ಅಗಿರĹ. ಆಗ ಕಂಬಸಾĹನĹಲ್ ಇರುವ ಮಕಕ್ಳ ಸಂಖೆಯ್, ಅಡಡ್ಸಾĹನĹಲ್ ಇರುವ ಮಕಕ್ಳ ಸಂಖೆಯ್ಗಿಂತ 2 ಹೆಚುಚ್ = x+2 

 
 C1 C2 C3 C4 C5 

R1      
R2      
R3      

 
 

∴ Total number of children= x(x+2) = 63 
Ie x2+2x=63    (Expansion) 
x2+2x-63=0 (Transposition) 
Factors of 63 are (1, 63), (9,7)  

x2+9x-7x-63=0 
x(x+9) -7(x+9) = 0  
(x+9)(x-7)=0 
x+9=0 or x-7=0 
x =-9 or x=7 

There are 7 rows and 9 columns. So in all 9*7= 63     
By formula: 
 
ax2+bx+c=0= x2+2x-63   ====  a=1; b=+2; c=-63  

∴ x=
a

acbb
2

42 −±− = 
2

25242 +±−  = 
2

162±−  =-9 or 7 
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Problem 3: If product of 2 consecutive positive even numbers is 48, what are those numbers? 
ಎರಡು ಅನುಕರ್ಮ ಧನ ಸಮಸಂಖೆಯ್ಗಳ ūತತ್ 48 ಆದರೆ ಆ ಸಂಖೆಯ್ಗಳು ಯಾವುವು? 
Solution: 
Let ‘x’ be the first positive even number. Next is x+2 
‘x’  ಎನುನ್ವುದು ūದಲ ಧನ ಸಮಸಂಖೆಯ್ಯಾಗಿರĹ. ಆಗ ಮುಂದಿನ ಸಮಸಂಖೆಯ್ x+2 

∴ x(x+2)= 48 
x2+2x= 48  (Expansion) 
x2+2x-48=0 (Transposition) 
The factors of 48 are (1,48),(2,24),(3,16),(4,12), (6,8),(48,1) 

x2+8x-6x-48=0 
x(x+8) -6(x+8)=0 
(x+8)(x-6)=0 
(x+8) cannot be 0 (Why?) and hence x-6 has to be equal to zero 
 

∴ x=6 and next number is 8 so that 6*8=48 
 

By formula: 
 
ax2+bx+c=0= x2+2x-48   ====  a=1; b=+2; c=-48  
 
 

∴∴ x=
a

acbb
2

42 −±− = 
2

19242 +±−  = 
2

142±−  =-8 or 6,  

x cannot be -8 as x is a positive even number and hence x=6. 
ಸಂಖೆಯ್ ಧನ ಸಂಖೆಯ್ ಎಂದು ಲೆಕಕ್ದĹಲ್ ನೀಡಿರುವುದರಿಂದ x=-8  ಆಗಲು ಸಾಧಯ್Ļಲಲ್. ಹಾಗಾಗಿ x=6 
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Probability/ಸಂಭವನೀಯತೆ 

 
Probability means chance of some thing happening 
Like when coin is tossed, what are the chances of head or tail appearing? 
Question: What is the probability of getting head on tossing a coin? 
Answer: It is 1 out of 2 that is 1/2, 
Question: Similarly what is the probability of getting tail on tossing a coin? 
Answer: Again it is 1 out of 2 that is ½ 
Note probability is always a fraction and is <=1 
When a dice is cast what is the probability getting number 1? 

It  is 
6
1  ( Note dice has numbers from 1 to 6) 

When a dice is cast what is the probability getting number between 4 and 6? 

It is 
6
1 +

6
1 +

6
1 = 

6
3  = 

2
1  

Probability of an event = P(E) = 
)(
)(

Sn
En ( n(E) is  number of events, n(S) is  Total number of possibilities) 

 

ಒಂದು ನಾಣಯ್ವನುನ್ ಮೇಲಕೆಕ್ ಚಿಮಿಮ್ದಾಗ ļರ ಅಥವಾ ಬಾಲ ಬೀಳುವ ಸಾಧಯ್ತೆ ಎಷುಟ್?  ಅದು  2 ರĹಲ್  1 ಅಗಿರುತತ್ದೆ. = 
2
1
ಇದನೆನ್ೕ ಸಂಭವನೀಯತೆ ಎನುನ್ತೆತ್ೕವೆ. 

ಮತುತ್ ಅದು ಯಾವಾಗಲೂ <=1 

ಪಗಡೆಯಾಟದ ದಾಳದĹಲ್  1 ಬೀಳುವ ಸಂಭವನೀಯತೆ=
6
1  (Q ದಾಳದ ಮೇĹನ ಸಂಖೆಯ್ಗಳು 1 ರಿಂದ 6 ವರೆಗೆ ಮಾತರ್ ಇರುತತ್ದೆ) 

ಪಗಡೆಯಾಟದ ದಾಳದĹಲ್ 4 ಮತುತ್ 6 ರ ಮಧಯ್ದ ಸಂಖೆಯ್ಯ ದಾಳ ಬೀಳುವ ಸಂಭವನೀಯತೆ=
6
1 +

6
1 +

6
1 = 

6
3  = 

2
1

 

ಸಂಭವನೀಯತೆ= P(E) = 
)(
)(

Sn
En ( n(E) = ಸಂಭĻľದ ಘಟನೆಗಳ ಸಂಖೆಯ್, n(S) = ಸಾಧಯ್Ļರುವ ಒಟುಟ್ ಘಟನೆಗಳ ಸಂಖೆಯ್) 
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Problem 1: A letter is chosen at random from the letters of the word 'MATHEMATICIAN'. Find the probability of 
that the chosen letter is M or A. 
'MATHEMATICIAN' ಪದದಿಂದ ಒಂದು ಅಕಷ್ರವನುನ್ ಆಯುದ್ಕೊಂಡರೆ M ಅಥವಾ A ಅಕಷ್ರ ಆಯುದ್ಕೊಳಳ್ಬಹುದಾದ ಸಂಭವನೀಯತೆ ಎಷುಟ್? 

 
Solution: 
 There are 13 letters in ' MATHEMATICIAN '. Hence n(S)= 13  

Let E be the event of getting letter M then n(E)=2 then P(E)= 
13
2

   

Let F be the event of getting letter A then n(F)=3 then P(F)= 
13
3

      

Hence the probability of that the chosen letter is M or A =
13
2 +

13
3 = 

13
5 . 

 
 

 
' MATHEMATICIAN ' ಪದದĹಲ್ 13 ಅಕಷ್ರಗಳು ಇವೆ. ∴ n(S)= 13 

ಪದದĹಲ್  M ಅಕಷ್ರ 2 ಬಾರಿ (∴ n(E)=2)  ಇರುವುದರಿಂದ M  ಆಯೆಕ್ಯ ಸಂಭವನೀಯತೆ= 
13
2  

ಪದದĹಲ್  A ಅಕಷ್ರ 3 ಬಾರಿ (∴ n(E)= 3)  ಇರುವುದರಿಂದ M  ಆಯೆಕ್ಯ ಸಂಭವನೀಯತೆ= 
13
3  

 

∴ M ಅಥವಾ   A   ಅಕಷ್ರಗಳ ಆಯೆಕ್ಯ ಸಂಭವನೀಯತೆ=
13
2 +

13
3 = 

13
5
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Problem 2:  
2 dice are thrown together. Find the probability that their sum is greater than 10 or sum less then 5 
 

2 ದಾಳಗಳನುನ್ ಒಟಿಟ್ಗೇ ಎಸೆದಿದೆ. ಆಗ ಬಿದದ್ ಸಂಖೆಯ್ಗಳ ūತತ್ 10 ಕಿಕ್ಂತ ಜಾľತ್ ಅಥವಾ ūತತ್  5 ಕಿಕ್ಂತ ಕಡಿಮೆ ಇರುವ ಸಂಭವನೀಯತೆ ಎಷುಟ್? 

Solution: 
When 2 dices are thrown number of combinations possible are 6*6=36. Hence n(S) = 36 
Let E be the event of getting sum greater than 10.  
Then E = { (5,6),(6,5),(6,6)}  

So, n(E)= 3 and P(E)= 
)(
)(

Sn
En = 

36
3  

Let F be the event of getting sum less than 5.  
Then F = { (1,1),(1,2),(1,3), (2,1),(2,2),(3,1)} n(F)= 6 

So, n(F)= 6 and P(F)= 
)(
)(

Sn
Fn )=

36
6  

the probability that their sum is greater than 10 or sum less then 5 

= p(E)+P(F)= 
36
3 +

36
6 = ¼ 

 
 
 
2 ದಾಳಗಳನುನ್ ಒಟಿಟ್ಗೆ ಬೀĺľದಾಗ  ಒಟುಟ್  ಸಾಧಯ್ ಇರುವ ಘಟನೆಗಳು=6*6=36∴ n(S) = 36 

ಬಿದದ್ ಸಂಖೆಯ್ಗಳ ūತತ್ 10  ಕಿಕ್ಂತ ಜಾľತ್ಯಾಗಬೇಕಿದದ್ರೆ ಅವುಗಳ ಬೀಳುĻಕೆಯ ಜೋಡಿ ={ (5,6),(6,5),(6,6)}  

∴ n(E)= 3; ಸಂಭವನೀಯತೆ= 
)(
)(

Sn
En = 

36
3

 

ಬಿದದ್ ಸಂಖೆಯ್ಗಳ ūತತ್ 5  ಕಿಕ್ಂತ ಕಡಿಮೆಯಾಗಬೇಕಿದದ್ರೆ ಅವುಗಳ ಬೀಳುĻಕೆಯ ಜೋಡಿ. ={ (1,1),(1,2),(1,3), (2,1),(2,2),(3,1)}  

∴n(E)= 3 = 6; ಸಂಭವನೀಯತೆ= 
)(
)(

Sn
En = 

36
6   

ಬಿದದ್ ಸಂಖೆಯ್ಗಳ ūತತ್ 10 ಕಿಕ್ಂತ ಜಾľತ್ ಅಥವಾ ūತತ್  5 ಕಿಕ್ಂತ ಕಡಿಮೆ ಇರುವ ಸಂಭವನೀಯತೆ= 
36
3 +

36
6 =

4
1  
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Problem 3: Cards are numbered 1 to 25. 2 cards are drawn. Find the probability of the number on one card is 
multiple of 7 and on the other it is multiple of 11. 
 

ಹಲವು ಕಾಡ್ರ್ ಗಳ  ಮೇಲೆ  ಸಂಖೆಯ್ 1ರಿಂದ  25 ರ ವರೆಗೆ  ಸಂಖೆಯ್ಗಳನುನ್ ಬರೆಯಲಾಗಿದೆ.  2 ಕಾಡ್ರ್ ಗಳನುನ್ ಎತತ್ಲಾಗಿದೆ.  7 ರ ಗುಣಕದĹಲ್ ಒಂದು ಕಾಡ್ರ್ ಎತಿತ್ 

ಮತೊತ್ಂದನುನ್   11  ರ ಗುಣಕದĹಲ್  ಎತಿತ್ದರೆ  ಉಂಟಾಗುವ ಸಂಭವನೀಯತೆ ಎಷುಟ್? 

 
Solution: 
The cards which are multiple of 7 are {7,14,21} 
∴ The Number of combinations of lifting cards numbered {7,14,21}= 3C1 
The cards which are multiple of 11 are {11,22} 
∴ The Number of combinations of lifting cards numbered {11,22} = 2C1 
n(S)= 25C2  and n(E) = 3C1*2C1( Total number of combinations) 

Hence Probability =
)(
)(

Sn
En = 3C1*2C1÷25C2= 3*2÷{25!÷(23!*2!} =

!23*24*25
!2!*23*2*3 = 

50
1  

 
 

 
7  ರ ಗುಣಕದĹಲ್  ಇರುವ ಕಾಡ್ರ್ ಗಳು {7,14,21} 

∴{7,14,21} ಇರುವಂತೆ ಎತುತ್ವ ಆಯೆಕ್ಗಳು= 3C1 

11  ರ ಗುಣಕದĹಲ್  ಇರುವ ಕಾಡ್ರ್ ಗಳು {11,22} 

∴{11,22}ಇರುವಂತೆ ಎತುತ್ವ ಆಯೆಕ್ಗಳು= 2C1 

∴ ಒಟುಟ್ ಆಯೆಕ್ಗಳು 3C1*2C1= n(E) 

n(S)= 25C2   ಆಗಿರುವುದರಿಂದ ಸಂಭವನೀಯತೆ=
)(
)(

Sn
En = 3C1*2C1÷25C2= 3*2÷{25!÷(23!*2!} =

!23*24*25
!2!*23*2*3 = 

50
1
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Problem 4: From 6 red, 7 white and 7 black balls, 2 balls are drawn at random. Find the probability that the 
both the balls are red or both the balls are black. 
 

6 ಕೆಂಪು 7 ಬಿĺ ಮತುತ್ 7 ಕಪುಪ್ ಚೆಂಡುಗĺಂದ  2 ಚೆಂಡುಗಳನುನ್  ಎತಿತ್ದರೆ  ಎರಡೂ ಕೆಂಪು ಚೆಂಡು ಅಥವಾ ಎರಡೂ ಕಪುಪ್ ಚೆಂಡುಗಳಾಗಿರುವ ಸಂಭವನೀಯತೆ ಎಷುಟ್? 

 
Solution: 

No of ways 2 balls out of total of 20 balls can be drawn in =20C2= 
!2!*18

!18*19*20 =190  

Out of 6 red balls, number of ways 2 can be drawn in =6C2= !2!*4
!4*5*6
 =15  

Out of 7 black balls, number of ways 2 can be drawn in =7C2= 
!2!*5

!5*6*7 =21  

 

The probability that the 2 balls are red or black is = 
190
15 +

190
21 = 

190
36 = 

95
18  

 

 

ಒಟುಟ್ ಇರುವ 20 ಚೆಂಡುಗಳĹಲ್ 2 ಚೆಂಡುಗಳನುನ್  ಆಯೆಕ್ ಮಾಡಿಕೊಳುಳ್ವ Ļಧಾನಗಳು =20C2= 
!2!*18

!18*19*20 =190 

6 ಕೆಂಪು  ಚೆಂಡುಗĺಂದ  2 ಚೆಂಡುಗಳನುನ್  ಆಯೆಕ್ ಮಾಡಿಕೊಳುಳ್ವ Ļಧಾನಗಳು=6C2=
!2!*4

!4*5*6
 =15 

7 ಕಪುಪ್  ಚೆಂಡುಗĺಂದ  2 ಚೆಂಡುಗಳನುನ್  ಆಯೆಕ್ ಮಾಡಿಕೊಳುಳ್ವ Ļಧಾನಗಳು=7C2= 
!2!*5

!5*6*7 =21 

 ಚೆಂಡುಗಳು  ಎರಡೂ ಕೆಂಪು ಅಥವಾ ಎರಡೂ ಕಪಾಪ್ಗಿರುವ ಸಂಭವನೀಯತೆ= 
190
15 +

190
21 = 

190
36 = 

95
18  
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Menstruation/ďೇತರ್ಗಣಿತ 

 
 

Type Figure(ಚಿತರ್) Area/Perimeter(Ļľತ್ೕಣರ್,ಸುತತ್ಳತೆ) 

Triangle 
ತಿರ್ಕೋನ 

  
  
  
  
  

 

Area=
2
1 *ah= 

2
1 * base*height 

              OR 

 Where s = (
2
1 ) (a+b+c)=

2
1 (sum of sides) 

 
Perimeter= a+b+c 

Quadrilateral
ಚತುಭುರ್ಜ 

 

Area= (
2
1 ) *d*(h1+h2) 

2
1 * diagonal * sum of heights on the diagonal 

 
Perimeter= sum of sides 

Parallelogram 
 ಸಮಾನಾಂತರ 

ಚತುಭುರ್ಜ 

   

 Area=a*h 
  
(base*height) 
 
Perimeter= sum of sides 

Trapezium 
  
ತಾರ್ಪಿಜಯ್ 

  
   

Area= (
2
1 ) *h(a+b) 

(
2
1 ) *product of height and sum of parallel sides 

 
Perimeter= sum of sides 

Rectangle
ಆಯತ 

 

Area=ab= Product of sides 
 
Perimeter= 2(a+b) 
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Square
ಚೌಕ 

 

Area=a*a = a2= Square of sides 
 
Perimeter= 4a 

Rhombus
ವಜಾರ್ಕೃತಿ 

  

 

Area= (
2
1 )*ab=(

2
1 )* product of diagonals 

 
Perimeter= sum of sides 

Circle 
ವೃತತ್ 

 

Radius=r 

Area= πr2=(
7
22 ) r2 

Diameter= 2r 
Circumference/Perimeter 

= 2 πr=2*(
7
22 )r   

 

Problem 1 : The perimeter of a square is 
3
1 the perimeter of rectangle. If perimeter of square is 48 cm and 

length of the rectangle is 52 cm, what is the difference between breadth of the rectangle and side of square? 

ಒಂದು ಚೌಕದ ಸುತತ್ಳತೆಯು ಆಯತದ ಸುತತ್ಳತೆಯ 
3
1
ರಷುಟ್. ಚೌಕದ ಸುತತ್ಳತೆ 48 ಸೆ.ಮಿ. ಮತುತ್ ಆಯತದ ಉದದ್  52 ಸೆ.ಮಿ. ಇದದ್ರೆ ಆಯತದ ಅಗಲ ಮತುತ್ ಚೌಕದ 

ಬದಿಯ ವಯ್ತಾಯ್ಸ ಎಷುಟ್? 

Solution: 

Side of square/ ಚೌಕದ ಬದಿ = 
4
48 = 12 cm.  

Let ‘x’ be the breadth of rectangle/  ‘x’  ಎನುನ್ವುದು  ಆಯತದ ಅಗಲ ಆಗಿರĹ 

Rectangle’s perimeter/ ಆಯತದ ಸುತತ್ಳತೆ = 3*48= 144 cm= 2(Length + Breadth)  

∴ 2*52+2x=144 (Q Rectangle’s length =52 cm; ಆಯತದ ಉದದ್ 52 ಸೆ,ಮೀ.  ) 
2x=40   x=20; Difference = 20-12=8cm 
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• Data adequacy/sufficiency  
• Interpretation of charts( Bar, Line, Pie)  
• Interpretation of data in table  
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Data Adequacy 
 

Option A Condition B 

1 E(Enough)    NE(Not Enough) 

2 NE(Not Enough) E(Enough) 

3 R(Required) AND  R(Required) 

4 R(Required) OR  R(Required) 

5 More data required 

Each question in the next slide is followed by two statements A and B. You are to determine whether the data 
given in the 2 statements is sufficient for answering the question.  
You should use the data and your knowledge of Mathematics to choose the correct option  among 5 options: 
Choice of option  Condition for the choice 
1 Statement A alone is sufficient to answer the question BUT 

B alone is not sufficient to answer the question 
2 Statement B alone is sufficient to answer the question BUT 

Statement A alone is not sufficient to answer the question 
3 Both A AND B together are needed to answer the question 
4 Either the statement A alone OR statement B alone is sufficient to answer the question 
5 Need more data.  Statements A and B are Not sufficient to answer the question. 
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Data Adequacy/ದತಾತ್ಂಶಗಳ ಸಂಪೂಣರ್ತೆ 

 
OPTION↓  To answer the question; ಪರ್ಶೆನ್ಯನುನ್ ಉತತ್ರಿಸಲು 

1 A is enough BUT B is irrelevant/Not required; A ಯು ಸಾಕು B  ಯು ಬೇಕಿಲಲ್ 

2 B is enough But A is irrelevant /Not required; B ಯು ಸಾಕು A  ಯು ಬೇಕಿಲಲ್ 

3 Both A And B  are required ; A ಮತುತ್   B ಎರಡೂ ಬೇಕು 

4 One of them is enough; ಯಾವುದಾದರೂ ಒಂದು ಸಾಕು 

5 More data is required ಇನೂನ್ ಹೆಚಿಚ್ನ Ļವರ ಬೇಕು 

 
Q1: Is A an odd number?  

A). A multiplied by an odd number is equal to an odd number.  
B). A is not divisible by 2. 

Solution: Option (4)   
Q2: The ages of X and Y are in the ratio of 7 : 5 . What is the age of X.? 

A). The ages of X and Z are in the ratio of 3 : 1. 
B). After 7 years the ratio of X's and Q’s ages will be 4 :3. 

Solution: Option (5) ;4 variables require 4 equations to solve which we do not have. 
Q3: What is the salary of B, in a group of A, B , C and D whose average salary is Rs. 62,880? 

A). Total of the salary of A and C is exact multiple of 8. 
B). Average of the salary of A, C and D is Rs. 61,665.  

Solution: Option (2) ; B’s  salary = 62880*4-61665*3 
Q4: What is the three digit number? 

A). The three digit number is divisible by 9. 
B). The first and the third digit is 6. 

Solution: Option (3) ; Number is 6?6 (Use Divisibility test for 9) : 666? 
Q5: What is the profit earned by selling a printer for Rs. 3,000? 

A). The cost price of 6 such printers is equal to selling price of 5 such printers. 
B). 20% profit is earned by selling each printer.  

Solution: Option (4) ; From ‘A’ we can say profit as Rs. 500, From ‘B’ we can say profit is Rs. 600. 
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Data: A teachers' colony has 2800 members, out of which 650 members read only English newspaper. 550 
members read only Hindi newspaper and 450 members read only Marathi. The number of members reading all 
the 3 newspapers is 100. Members reading Hindi as well as English newspaper are 200. 400 members read 
Hindi as well as Marathi newspaper and 300 members read English as well as Marathi newspaper. 
 

 
Questions: 
1) Find the difference between number of members reading English as well as Marathi news paper and the 
number of members reading English as well as Hindi news paper.  
2) How many members read at least 2 newspapers? 
3) Find the number of members reading Hindi newspaper only. 
4) How many members read only one newspaper? 
5) Find the number of members not reading any newspaper. 
 
Solution:  
1) (English + Marathi) – (English + Hindi)= 200+100-(100+100)=100 
2) Here we have to take the numbers at the intersecting parts of the circles. = 200+100+100+300=700. 
3) Here the answer is 100+100+550+300= 1050  
4) Answer is 650(Only English)+550(Only Hindi)+450(Only Marathi)=1200 
5) Answer is 2800-(650+100+100+550+300+450+200)=2800-2350=450 
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Bar chart interpretation 

 
Q1: Total exports in 2006 and 2007 together was equal in case of which of the following pairs of types? 

(1)A and E  (2)B and E  (3) A and D  (4) Band D  (5) None of these 
Working: It is visible that 20+25 in A is equal to 25+20 in E. So obviously the answer is Option A and E.  
Q2: The percentage change (increase or decrease) in the number of vehicles exported from 2006 to 2007 is 
minimum  in the case of which of the following types of vehicles? 
    (1)A   (2)B   (3)C   (4)D  (5) E 
Working: For % to be low, numerator which is the difference between exports in 2 years should be minimal 

and the denominator which is export in 2006 has to be high. Lowest %= 
35

)355.37( − =
35

)5.2(  

Q3: The number of E type of vehicles exported in 2006 is equal to the number of  which type of vehicles 
exported in 2007? 

(1) Only C (2) only D (3) only A (4)  A and C (5) None of these 
Working: E type of vehicles exported in 2006 is 25 which is same for export of A and C in 2007. 
Q4: The average of B and C type of vehicles in 2007 was equal to exports of which type in 2006? 

(1) Only A (2) only C (3) A and C  (4)  C and E(5) None of these 

Working: B+C = 
2

55 =27.5 which is equal to C’s export in 2006 

Q5: The export of D type of vehicle in 2006 was what % of exports of type E in 2006? 
(1) 150 (2) 175 (3) 75 (4) 125 (5) None of the these 

Working: The % = 
25

100*35 =140 
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Line chart interpretation 

                                      
Q1.How much is the percentage fall in the price in 2007 to that of in 2006?  

(1)  12
3
2    (2)  3

3
1   (3) 20  (4) 16

3
2    (5) None of these 

Working: % fall= (500-600)*
600
100  =16

3
2  

Q2 . If per kg rate of tea in 2007 was equal to that of in 2005, what will be the total price in 2007?  
(1) 650 Lakhs  (2) 625 Lakhs  (3) 700 Lakhs  (4) 725 Lakhs  (5) None of the above 
Working:  

Rate in per ton in 2005 = 
240
600 ; value in 2007= (Quantity in 2007)*(Rate in 2005)= 260*

240
600 =650 Lakhs   

Q3 : In which of the following years the rate per kg tea was Rs 250?  
(1) 2004  (2) 2005  (3) 2002  (4) 2003  (5) None of these 

Working: We can guess that  only 2002 could be the answer as 
200
500 = 2.5; 

Rate in 2004=
1000*180

100000*350 ; In 2005=
1000*600

100000*240 ; In 2002=
1000*200

100000*500 =250; In 2003= 
1000*100

100000*200    

Q4: In which of the following years rate per tonne of tea was maximum? 
(1) 2001 and 2002   (2) 2003 and 2005 (3) 2002 and 2003 (4) 2005 and 2007 (5) None of these 
Working: As can be seen rates are different for each of the years and hence it cannot be same in both years. 
Q5: What was the average approximate production of tea in tonnes? 
(1) 200  (2) 250  (3) 150  (4) 180  (5) 220  
 

Working: Average = 
7

)260280600180100500120( ++++++ =
7

2040
≅ 291              
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Pie chart interpretation 
 

 

    
 
Q1: Which institute has the highest percentage of students successful to enrolled? 
(1) D  (2) E  (3) A  (4) B  (5) None of these 
Working: To get highest %, we need to select from 2nd chart having highest % and from 1st chart a lowest %. 

Possible choices as can be seen from the charts are either A or D. For D it is 
12
15 =.95, for A it is 

15
17 =0.86 

Q2: What percentage of candidates from institute D have come out to be successful out of the total candidates 
enrolled from this institute? 
(1) 115  (2) 95  (3) 80  (4) 85  (5) None of these 
Working:  See calculation done in the Q1. 
Q3 :  What is the approximate % of students successful to enrolled from Institute A? 
(1) 92  (2) 89  (3) 86  (4) 96  (5) 88 
Working:  See calculation done in the Q1. 
Q4: What is ratio of candidates successful to enrolled from the institutes B and C together? 
(1) 55 : 12  (2) 5 : 7  (3) 135 : 271  (4) 3 : 5  (5) None of these 
Working:  Successful to enrolled ratio = (18+12)*1900 : (22+16)*2500 = 5×6×19 : 19×2×5×5=3:5  
Q5: What is the % of students successful from Institutes E & F together over the students enrolled from these 2 
(1) 76  (2) 105  (3) 80  (4) 74  (5) None of these 
Working:  Successful candidates = (9+16)*1900; Enrolled= (8+17)*2500 ;  

∴ % = [
2500*25
1900*25 ]*100 =

25
100*19 =76% 
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Table chart interpretation 
 

 
Q1 : What was the approximate % increase in production of D type of toys from 2004 to 2006? 
(1) 5  (2) 20  (3) 10  (4) 25  (5) 15 

 Working: In 2004 production was 105 and in 2006 it was 125  ∴ %= 
105

100*)105125( − = 
105
2000

≅ 19 

Q2 : In the case of which type of toys was the total production in the given five years the maximum? 
(1) B  (2)C  (3) A  (4) D  (5) E 
Working: There is no need to add up for all the 5 types. We can easily make out it is either A or B. It is A 
 
Q3 : What was the % drop in production of A type of toys from 2003 to 2005? 
(1) 20  (2) 10  (3) 30  (4) 50  (5) None of these 

Working: Drop in production = (200-180)=20 ∴% = 
200

100*20 =10% 

Q4: In the case of which type of toys was there a continuous increase in production over the years? 
(1) A  (2) B  (3) C  (4) D  (5) D or E 
Working: It is obviously D. Only for D it increases whereas for others it fluctuates. 
 
Q5 : The production of E type of toys in 2007 was what % of production of B type toys in 2006? 
(1) 20  (2) 80  (3) 1000  (4) 200  (5) None of these 

Working: Type E production in 2007 = 80; Type B production in 2007= 160 ∴ %= 
160

100*80 =50% 




